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IES RUIZ GIJÓN

     SECTION BILINGÜE     

ESPAGNOL-FRANÇAIS

MATERIAL BILINGÜE 
(FRANCÉS-ESPAÑOL) 
PARA 4º DE E.S.O y 

UNIDADES INTEGRADAS EN 1º DE ESO.:
Partiendo del tema dado por Ciencias de la Naturalez
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CURSO 2010-2011

Section bilingue en Français
Caractéristiques spécifiques de la section.

· La section regroupe à ce jour trois niveaux : 1º, 2º y 3º d’ESO, et se complétera à la rentrée prochaine par celui de  4º d’ESO
· Le nombre d’heures de cours de français passe, des 2 heures hebdomadaires d’une option, à 4 heures en 1º et 3º,  et à  3 heures en 2º.

Les manuels utilisés sont:

· -ÉNERGIE 1,  en 1º d’ESO 

· -ÉNERGIE 2 en 2º d’ESO  

· -ENERGIE 3 en 3º d’ESO 
 - Les autres matières sont prévues de la même façon que pour les sections non-bilingue tant en tant terme de contenus que d’horaires assignés (l’anglais conserve ses 4 heures électives en 1º de ESO. De ce fait l’initiation à une nouvelle langue ne nuit pas au bonne apprentissage de la troisième langue. Les procédés et contenus de L1, L2 et L3 (Castellan, français, anglais) s’équilibrent entre eux.

 - Les cours sont donnés en français dans les matières suivantes: 

· Sciences naturelles, Mathématiques et Arts plastiques en1º d’ESO (groupe de 30 élèves)

· Histoire-géographie, Mathématiques et sciences naturelles en 2º d’ESO (groupe de  30 élèves)

· Histoire-géographie et Mathématiques en 3º d’ESO (groupe de 16 élèves)

· Histoire-géographie et Education civique en 4º d’ESO (pas encore mis en place)

 -Nous disposons d’une auxiliaire  de langue française

· Il faut ajouter que durant cette année scolaire, de la même façon que les années précédentes, le département comptera sur la présence d’au moins un auxiliaire de conversation, dont la mission au sein de l’établissement est de renforcer le département, surtout pour les groupes bilingues et les professeurs impliqués dans le projet.

Dans la mesure où son horaire de 12h hebdomadaires le permette, on essayera de faire profiter d’autres section (quelques classes de ESO y de bachillerato)  de sa présence.

· Il faut noter que chaque année nous sollicitons des auxiliaires COMENIUS mais que jusqu’à présent nous n’avons pas eu la chance d’en bénéficier.

HORAIRE HEBDOMADAIRE DES AUXILIAIRES  DE CONVERSATION

Année 2010/2011

	Heure
	Lundi
	Mardi
	Mercredi
	Jeudi
	Vendredi

	8-9H
	
	
	
	FR1

1ºESO(A-B)
	

	9-10H
	
	
	C.S.O.

3º ESO(A-B)
	FR1

3ºESO(A-B)
	

	10-11H
	
	C.S.O.

2ºESO(A-B)
	FR2

2º BACH
	Conversation ou préparation de matériel bilingue.
	

	11’30-12’30H
	
	Conversation ou préparation de matériel bilingue.
	FR2

4º ESO
	FR2

2º BACH
	

	12’30-13’30H
	
	
	Conversation ou préparation de matériel bilingue.
	C.N.A.

1ºESO(A-B)
	

	13’30H-14’30H
	
	
	FR1

2ºESO(A-B)
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· Nous bénéficions de clase de CAL et de professeurs dans les niveaux supérieurs de l’EOI. C’est le professeur titulaire Christina Lapièrre Froye, qui dispense ces cours aux professeurs impliqués dans le projet, dans notre centre, mais aussi dans notre ville et son canton. Nous parlons de 10 heures de cours réparties entre deux niveaux (2º y 3º), puisque cette année l’ouverture d’aucune classe de 1˚ n’a été permise, 
contrairement à celle d’anglais, ce qui suppose un frein au bilinguisme en langue française. 
· Il existe depuis quatre ans un groupe dune dizaine de  professeurs qui travaille en équipe pour préparer du matériel bilingue pour les niveaux sur le point de s’ouvrir. Ce groupe est soumis à l’autorité du CEP GRUPO DE TRABAJO, qui cette année en a réduit le nombre de membre à 10 personnes, bien que cela ne corresponde pas au nombre réel de personnes impliquées dans ce projet ( au moins 12-14, voir plus si l’on considère le soutient, la gestion légale ou la direction)

                                                                                                          Public                  
 

· L’inscription est ouverte a tous les élèves en fin de 6 º de primaire dans un collège assigné à l’IES Ruiz Gijón et, s’il reste des places (maximum 30) à tous ceux qui le sollicitent; dans l’éventualité où il y aurait plus de demande que d’offre, le choix se fera par un tirage au sort public au sein de l’établissement.

· Il est recommandé que les élèves qui sollicitent la section bilingue aient un bon niveau de Langue Castellane et soient disposés à s’intégrer dans un groupe de haut niveau d’exigence, de travail et de contrôle. Ils doivent également être disposés à participer à toutes les activités proposées, au sein de l’établissement ou en extérieur, dans le but d’améliorer leurs formation et résultats. 

· Les élèves candidats à la section bilingue en 2º, 3º ou 4º venant d’autres centres non-bilingue devront réussir une épreuve de niveau ou s’engager à suivre des cours de soutien en parallèle pour rattraper le niveau du groupe. En effet, nous avons déjà connu le cas de l’élève venant d’un autre centre ne disposant d’une section bilingue en langue française et qui obtient une place vacante au sein d’un de nos groupes bilingues. Il en ressort des résultats dans les matières bilingues qui ne sont pas à la hauteur du groupe ou une surcharge excessive de travail et d’efforts pour  l’élève concerné, et ce quand le niveau Langue Castellane des nouveaux inscrits n’est pas celui attendu dans le niveau correspondant..

 

Avantages des sections bilingues

· Notre ambition est non seulement  que les élèves de section bilingue en français dominent le français quand ils terminent la ESO mais aussi de renforcer la langue anglaise comme seconde langue, tant au niveau du centre que du projet bilingue. Pour ce faire le nombre d’heure d’anglais est augmenté dans la mesure du possible : les élève de 1º de ESO ont le même nombre d’heure d’anglais que de français, de façon à ce que l’implication du Ruiz Gijón  dans le projet bilingue Espagnol-Français ne suppose pas un recul alarmant de la troisième langue mais plutôt une progression parallèle du français, de l’anglais et de l’espagnol, pour qu’au terme de la ESO l’élève utilise correctement les trois langues, à l’oral comme à l’écrit.
 

· Suivre la ligne bilingue suppose une éducation linguistique renforcée. Le français s’apprend mieux s’il sert à l’apprentissage de connaissances d’autres domaines. (les matières qui sont enseignées en français)

· L’enseignement en trois langue augmente la créativité et l’imagination, et par la même un meilleur développement des capacités générales d’apprentissage. 

· Cela permet un haut rendement académique de part l’effort supplémentaire du groupe. 

· Appartenir à la section bilingue Espagnol-Français est un passeport pour des études universitaires en France et en Europe, puisque l’anglais n’est jamais laissé pour compte. 

· Cela développe la tolérance et crée un sentiment d’identité européenne, amplifiant le champ de vision et d’action de l’élève et donc son ouverture culturelle et sa culture générale. 

· Finalement, la connaissance de trois langues au terme leur formation au sein du Ruiz Gijón donne à nos élèves un avantage sur le marché de l’emploi. 
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ACTIVITÉS POUR  “LE JOUR DE FRANCE”
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El IES RUIZ GIJÓN DE UTRERA
Tiene el gusto de invitar , el día 24 de marzo, a los alumnos/as de 6º de primaria de su centro, junto a su profesorado a participar en las jornadas de celebración del DÍA DE FRANCIA, con motivo de la conmemoración mundial del Día de la Francofonía 2011 (20 de marzo).

Su alumnado procederá a visionar una película francesa,  subtitulada en francés, y visitará nuestro centro.

El horario será el siguiente:

· 11'30h: Alumnos/as de 6º Primaria del  CEIP Juan Antonio Velasco, CEIP Rodrigo Caro  y  CEIP Nuestra Señora de las Marismas. (Posterior visita al centro acompañados de alumnos de 2º Bilingüe )

Adjuntamos programación de dichas jornadas

Esperamos su asistencia y confirmación

                                                                                       Utrera 11 de marzo

D. MANUEL PÉREZ

(DIRECTOR DEL CENTRO)
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ACTIVITÉS POUR  “LE JOUR DE FRANCE”
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La section regroupe à ce jour trois niveaux : 1º, 2º y 3º d’ESO, et se complétera à la rentrée prochaine par celui de  4º d’ESO
23 DE MARZO DE 2011

Adornar el SUM a 5ª hora con trabajos del alumnado bilingüe y con las banderas francesa, española y andaluza. 

· 24 DE MARZO DE 2011

8h-11h : SUM….Proyección de las películas 
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                           LE PETIT NICOLÁS

· 8’30h: 1º A-B/ 1º C-D  

· 9’30h:  2º Y 3º ESO, bilingüe 
· TIN TIN

· 11'30h: Alumnos/as de 6º Primaria de centros adscritos. (Posterior visita al centro acompañados de alumnos de 2º Bilingüe )

· 12'30h: Alumnos/as de 6º Primaria de centros adscritos. (Posterior visita al centro acompañados de alumnos de 2º bilingüe)

· 11'30-14'30: Patio y SUM

· 11’30h-13h (porche trasero derecho): elaboración de crêpes [image: image77.png]


 por el alumnado 

· 13h-14'30: representaciones, poesías y canciones en el SUM

Diálogos de 1º y 3º

Teatros de 4º

Poesías de 2º

Juegos con la auxiliar lingüística:

Le facteur n'est pas passé 

le téléphone arabe.

Todos juntos cantamos:

· *Bon baiser de Fort-de-France (versión libre)

· *Que viva España (versión libre en francés.

Variation de Bon Baiser de Fort-de-France

Bonjour, comment ça va ?

Bon baiser de Fort-de-France !

Allez, vas-y chante avec nous

Et tape dans tes mains comme un fou !
Ici les champs recouverts de neige,

On ne les connaît qu’en photo,

Et on ne met jamais de manteau,

Le fond de l’air est bien trop chaud !

Ici les portes sont toujours ouvertes,

On peut rentrer dans toutes les maisons.

Et pour partager nos chansons

On n’a pas besoin d’invitations!
Bonjour, comment ça va ?

Bon baiser de Fort-de-France !

· Allez, vas-y chante avec nous

Et tape dans tes mains comme un fou !

Y a des manguiers sur la montagne,

Et il fait beau toute l’année.

On n’a pas besoin de souliers,

Avec des tongs on a assez !

Ici c’est pas pareil qu’en métropole

Et très souvent on parle créole

Mais on est quand même français

Et c’est pour ça qu’on va chanter :
Bonjour, comment ça va ?
Bon baiser de Fort-de-France !

Allez, vas-y chante avec nous

Et tape dans tes mains comme un fou.

http://www.youtube.com/watch?v=QgJriEVPYhY&playnext=1&list=PLF0DA3E5EDFD9850B

Cierre de las jornadas con el himno nacional francés LA MARSEILLAISE (http://www.youtube.com/watch?v=WUwlPL0rhFI )contando con la presencia del director del centro y el equipo directivo.

                                                                                                Utrera, 1, febrero 2011

LA MARSEILLAISE

Refrain

 Aux armes, citoyens,

Formez vos bataillons,

Marchons, marchons!

Qu'un sang impur

Abreuve nos sillons!

……………………………………………………………..

Allons enfants de la Patrie,

Le jour de gloire est arrivé!

Contre nous de la tyrannie,

L'étendard sanglant est levé,(bis)

Entendez-vous dans les campagnes,

Mugir ces féroces soldats?

Ils viennent jusque dans vos bras,

Égorger nos fils, nos compagnes!

· Refrain

Aux armes, citoyens,

Formez vos bataillons,

Marchons, marchons!

Qu'un sang impur

Abreuve nos sillons!

http://www.youtube.com/watch?v=tIWZf-D_pOU   CELIN DIONE
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LENGUA CASTELLANA Y LITERATURA
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 1º ESO. BILINGÜE
UNIDAD 1 

“La comunicación. El lenguaje y su organización”
	¿Quieres saber por qué el Sol es tan abrasador en la India y el Viento tan cálido? ¿O cómo es que los rayos de la Luna son fríos? Esta leyenda india, donde los tres asisten a un banquete nos lo explica.
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   El Sol, la Luna y el Viento participan en un banquete
 [image: image78.jpg]





	[image: image16.png]




	[image: image17.png]




	El Sol, la Luna y el Viento, que eran hermanos, fueron invitados por sus tíos, el señor Trueno y la señora Relámpago, a un delicioso banquete. Los tres fueron muy contentos, pero su madre, una Estrella del firmamento, tuvo que quedarse sola en casa.

Cuando llegaron al hogar de sus tíos, los tres se quedaron maravillados con los exquisitos manjares que allí había preparados. Las mesas estaban llenas de deliciosa comida, así que no tardaron en sentarse y disfrutar de la fiesta. Comían ahora un poco de aquí y luego un poco de allí y cada plato era mejor que el anterior.

Pero mientras que el Viento y el Sol solo pensaron en comer todas las exquisiteces que les servían, sin acordarse ni un poco de su madre, la dulce Luna no la olvidó. Así que cada vez que les servían un nuevo y exquisito plato, la Luna escondía un poco debajo de sus largas y preciosas uñas para que su madre también pudiese participar más tarde en el banquete.

Cuando volvieron a casa, su madre, la Estrella, les preguntó:

-¿Cómo ha ido el banquete? ¿Os lo habéis pasado bien? ¿Qué me habéis traído?

El Sol, que era el mayor, contestó primero:

-No te he traído nada. Al fin y al cabo he ido a la fiesta a divertirme, no a traerte comida. 

A su madre no le gustó nada esa respuesta, pero esperó a que su segundo hijo, el  Viento, también hablara:

-Yo tampoco te he traído nada. Con lo que me gusta comer dulces, ¿cómo esperas que me sobren para traerte?

La Estrella estaba cada vez más enfadada. Pero entonces la tierna Luna habló, alegrando el corazón de su madre:

-¡Madre no te preocupes! ¡Mira lo que te he traído!-. 

La Luna cogió un plato y empezó a agitar las manos. Entonces, los manjares más apetitosos aparecieron delante de todos.

La Estrella estaba contenta por lo que su hija menor había hecho, pero seguía enfadada con  sus dos hijos mayores, así que decidió castigarles. 

Primero se dirigió al Sol: -Hijo, como solo has pensado en divertirte y gozar de la buena comida, sin acordarte para nada de tu madre, que ha tenido que permanecer sola en casa, te castigaré con una maldición: de ahora en adelante todos tus rayos serán ardientes y abrasadores y quemarán todo lo que toquen. La gente te odiará y cubrirá sus cabezas cuando aparezcas en el cielo-. Como consecuencia de esta maldición el Sol es insoportablemente ardiente en la India. 

Pero la Estrella todavía no había acabado y se dirigió a su segundo hijo, el Viento: -Tú también te has olvidado de mí mientras te divertías. Por eso escucha lo que te va a pasar a partir de ahora: soplarás cuando el tiempo sea cálido y seco y todo lo que respira se marchitará. A partir de ahora la gente te despreciará y evitará-. Y por eso desde entonces el Viento indio es tan abrasador. 

Por fin, se dirigió a la Luna, a quien habló con una sonrisa: -Hija mía, tú has pensado en mí. Has compartido parte de las delicias que te han servido en el banquete conmigo y te estoy agradecida. A partir de ahora serás siempre tranquila y brillante. Tus rayos serán puros y no tendrán reflejos nocivos. La gente te bendecirá y quedará encantada con tu presencia-. 

Por ese motivo la Luna ilumina desde entonces todo el mundo con sus delicados y fríos rayos.
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ACTIVIDADES
· Lee el texto con atención. Subraya todas las palabras que no conozcas y búscalas en el diccionario.

· Señala los elementos de la comunicación que faltan en esta situación comunicativa:
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 “La Estrella dice: -Hija mía, tú has pensado en mí.”
· Un código es:

Un sistema de signos..................................................................................................................
Lo mismo que el contexto……………………………………………………………….….…
El canal por el que se transmite un mensaje……………………………………………..…….
· ¿Cuál es el canal de comunicación de esta leyenda?............................................................
· ¿Conocemos al emisor de este texto? Explícalo…………………………………………………………………………………...
· Relaciona las siguientes unidades de la lengua con sus correspondientes definiciones:
· Fonema

Conjunto de palabras con sentido completo.

· Palabra


Conjunto de sonidos.

· Grafía 


Sonido que distingue palabras.

· Oración

Representación de un sonido en la escritura.

· En el mensaje:

“La Estrella estaba cada vez más enfadada. Pero entonces la tierna Luna habló.”

· ¿Cuántas oraciones hay?...........................................................................................
· ¿Cuántas palabras?...................................................................................................
· ¿Cuántas sílabas?......................................................................................................

· ¿Cuántos fonemas?...................................................................................................
· ¿Cuántas grafías?......................................................................................................
· Si queremos dividir las palabras siguientes en sílabas, lo haremos así:

· Ca-mión, a-cei-te,ba-úl, dia-rio__

· Ca-mión, a-cei-te,baúl,di-a-rio__

· Ca-mi-ón,a-cei-te, ba-úl, dia-rio__

· Escribe cinco diptongos y cinco hiatos que aparezcan en la lectura:

· DIPTONGOS:___________________________________________________________
· HIATOS:_______________________________________________________________
· Separa estas palabras en sílabas………………………........................................................

· En el siguiente párrafo clasifica las palabras según el acento:
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 “El Sol, la Luna y el Viento, que eran hermanos, fueron invitados por sus tíos, el señor Trueno y la señora Relámpago, a un delicioso banquete. Los tres fueron muy contentos, pero su madre, una Estrella del firmamento, tuvo que quedarse sola en casa.

Cuando llegaron al hogar de sus tíos, los tres se quedaron maravillados con los exquisitos manjares que allí había preparados.”
	AGUDAS
	LLANAS
	ESDRÚJULAS
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UNIDAD 2
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“Tipos de textos. La palabra.
 Clases y constituyentes”

· Lee con atención estos textos. Subraya todas las palabras que no conozcas y búscalas en el diccionario.

· Indica el tipo de texto al que pertenecen estos ejemplos según la forma del discurso y según su intención comunicativa:
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"La luna va por el agua.
¡Cómo está el cielo tranquilo!
Va segando lentamente
el temblor viejo del río
mientras que una rana joven
la toma por espejito."

            Federico García Lorca
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Hace muchos, muchos años, vivían en el cielo tres hermanos: el Sol, la Luna y Quiquiriquí.

Un día, el Sol se fue a trabajar y la Luna y Quiquiriquí se quedaron solos. Al llegar la noche, la Luna ordenó a Quiquiriquí que hiciese volver el ganado a los establos, pero Quiquiriquí, que estaba cansado de trabajar todo el día, le dijo que no. Enfurecida, la Luna agarró a su hermano por la cresta y lo arrojó a la Tierra, expulsándolo para siempre del reino celestial.
Cuando el Sol llegó de trabajar y no vio a su hermano Quiquiriquí, le preguntó a la Luna qué había pasado. Cuando le explicó la verdad, el Sol se enfadó muchísimo y le dijo:
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- Hermana Luna, como no puedes vivir en paz con nadie, a partir de ahora vivirás sola. Yo trabajaré de día y tú de noche, de manera que no nos veremos nunca más. Pero nuestro hermano Quiquiriquí no se olvidará de mí, y cuando yo salga por el día me cantará alegremente, mientras que cuando llegue la noche, se esconderá para no ver a la hermana que ya no le quiere.

Y a partir de entonces siempre ha sido así. 
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Al salir el Sol, el gallo sale y canta: “¡Quiquiriquí, quiquiriquí!", que en el lenguaje de los gallos significa: "¡Yo también estoy aquí! ¡Yo también estoy aquí!". En cambio, cuando la Luna empieza a asomar, se esconde y se va a dormir, porque sigue enfadado con la hermana que lo expulsó del Cielo.


Cuento malayo
WASHINGTON, EEUU (21/AGO/2010).- La Luna podría estar encogiéndose pero no desaparecerá pronto. Nuevas investigaciones detectaron grietas en la corteza lunar que se formaron a medida que el interior se ha ido enfriando y encogiendo en los últimos mil millones de años, lo que significa también que se ha encogido la superficie, aunque nadie pueda comprobarlo a simple vista.
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ACTIVIDADES
· Di a qué clase pertenecen las palabras destacadas en negrita
………………....................………………………………………………………………………………………………………………………………………………………..
· Subraya los sustantivos y rodea con un círculo los adjetivos calificativos en el poema de García Lorca.
· Observa las siguientes palabras y responde. ¿Cuáles de ellas son invariables?
Por-  agua-  ordenó-  yo-  también-  dijo-  alegremente-  sol-  cantará-  y-  aquí-  no-  luna-  él
…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
· Di cómo se ha formado cada palabra: 

Recorrer-  puntiagudas-  palidez-  irreal-  salero-  estudiante-  sacacorchos-  librero-  malcomer-  suboficial-  

Por prefijación:______________________________________________________

Por sufijación:_______________________________________________________

Por composición:_____________________________________________________

· La familia léxica de luz está formada por:

a) Luz, luces…………………………………………………………………………………...
b) Luz, claridad, luminosidad, foco, faro……………………………………………………
c) Lucero, lucir, luciérnaga, contraluz, tragaluz……………………………………………….
· Si subrayamos la desinencia de estos dos verbos lo haríamos así:

a) Estudiaba, comía…………………………………………………………………………
b) Estudiaba, comía…………………………………………………………………………
c) Estudiaba, comía…………………………………………………………………………
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UNIDAD 3
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     La narración.
El significado de las palabras.”
El magivirus fue el primer virus mágico que existió. Era un encantamiento que iba pasando de persona a persona, y bastaba con que dos hombres, mujeres, niños o ancianos se tocasen, para que el virus cambiara de uno a otro. Los efectos de este hechizo cambiaban dependiendo del enfermo, pero solían ser pequeñas desgracias mágicas, como quedarse calvo de repente, estornudar cubitos de hielo, llorar por los pies o tener las manos tan pegajosas que era imposible soltar nada que se hubiera agarrado. 
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Como no todo el mundo tocaba a otras personas con la misma frecuencia, resultó que algunos pasaron la mágica enfermedad de forma muy suave, pero otros, aquellos que menos contacto tenían con otras personas, llegaron a estar verdaderamente graves, sobre todo cuando pasaban más de tres días con el virus.

Por supuesto, nadie pensaba que esas pequeñas desgracias fueran provocadas por un virus, y echaban las culpas a algún duende travieso o una bruja viajera. Sólo el doctor Toymu Malo, el médico del lugar,  comenzó a sospechar algo después de haber sufrido él mismo la enfermedad más de veinte veces, casi siempre tras alguna de sus visitas. De modo que empezó a hacer pruebas con sus pacientes y consigo mismo, y en unos pocos días ya estaba seguro de saber cómo se transmitía la enfermedad. 
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El doctor  reunió a todo el pueblo y les comentó que su enfermedad duraría tan poquito tiempo como tardaran en tocar a otra persona. Y así, el pueblo se convirtió en la capital mundial del “pilla-pilla” el famoso juego en que uno corre tras los demás, y cuando toca a alguien dice “tú la llevas”. Hasta los más viejetes jugaban, y la salud de todos los del pueblo mejoró tantísimo con aquel deporte, que el doctor recibió muchos premios y medallas.

Lo más gracioso es que, aunque todo sigue igual, hace ya muchísimo tiempo que el magivirus cambió de pueblo sin que nadie se diera cuenta. Se lo llevó un señor que estaba de visita, cuando tropezó con él un niño “contagiado” que corría tras otros niños. 
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Al regresar a su pueblo la historia fue un poco distinta, y en lugar del pilla-pilla, se convirtió en la capital mundial de los abrazos:  abrazo viene y abrazo va, todo el que pasaba por allí recibía un fuerte abrazo y la mágica enfermedad. Por eso mismo el virus tampoco tardó mucho tiempo en cambiar de pueblo otra vez. Y en el lugar al que fue, la gente terminó besándose a todas horas. 

Y así, uno tras otro, el magivirus fue cambiando los hábitos de todos los lugares por los que pasaba, convirtiéndolos en sitios más divertidos y amistosos, donde la gente se sentía mucho más cercana. Y es tal el efecto, que a nadie le importa si el virus sigue allí o si se ha ido, porque todos están encantados con el cambio.

                                                                                                    Autor: Pedro Pablo Sacristán
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ACTIVIDADES
1- Lee el texto con atención. Subraya todas las palabras que no conozcas y búscalas en el diccionario.

2- [image: image85.png]


Identifica en el relato el narrador e indica de qué tipo es: externo o interno. 
…………………………………………………………………………………………………….

3- Señala los personajes del relato.

………………………………………………………………………………………………….….……………………………………………………………………………………………………

4- Resume la acción

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
5- ¿Se produce la intervención de los personajes en estilo directo? Razona tu respuesta.

…………......................................................................................................................................................................................................................................................................................

6- Señala con una X la respuesta correcta:

· Si una palabra tiene varios significados en el diccionario, decimos que tiene varias:

a) Acepciones__

b) Sílabas__

c) Sinonimias__

· Pie es una palabra polisémica porque tiene:

a) Cuatro sílabas o más__

b) Varios significados__

c) Sinónimos__
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· El campo semántico de una palabra está formado por:

a) Todas las que son sinónimas__

b) Todas las que se refieren a una misma realidad__

c) Las que son sinónimas y antónimas__

· El narrador que se limita a contar lo que puede ver cualquier testigo de los hechos es:

a) Un narrador omnisciente__

b) Un narrador observador externo__

c) Un narrador autobiográfico__

7- Indica si las palabras señaladas en negrita son monosémicas o polisémicas. Escribe dos oraciones con cada una de ellas. 

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..

8- Busca en el texto cinco palabras y añade su antónimo.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

9- Busca en el texto cinco palabras y añade un sinónimo.

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..

10- Escribe cinco palabras que pertenezcan al campo léxico de:

-virus______________________________________________________

-juego_____________________________________________________
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UNIDAD 4
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“Tipos de textos narrativos. 

El enunciado.”
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La NASA  encuentra en California una nueva forma de vida

El hallazgo amplía la búsqueda de vida extraterrestre en otros planetas.  (El Correo de Andalucía, 3/12/2010)
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Una bacteria encontrada en un lago de California  revoluciona el mundo de la ciencia. Los Investigadores del Instituto de Astrobiología de la NASA han descubierto una forma de vida que sobrevive y crece utilizando sólo arsénico, un veneno para el resto de los seres vivos. 
Este descubrimiento amplía la búsqueda de formas de vida extraterrestre, ya que pone de relieve otras maneras de vivir en la tierra y, por tanto, en otros planetas.
Hasta ahora las formas de vida conocidas se componían principalmente de seis elementos: carbono, hidrógeno, nitrógeno, oxígeno, azufre y fósforo, indicó el estudio dirigido por Felisa Wolfe Simon. 

Sin embargo, la posibilidad de vida en condiciones consideradas extremadamente venenosas como el arsénico abre, según los científicos, la posibilidad de que existan formas de vida en otros planetas que no tienen fósforo en la atmósfera. "Este equipo nos acaba de demostrar que lo de los seis elementos de la vida era una mentira podrida. La vida con arsénico u otros elementos puede ser una propiedad general que no hemos visto porque somos muy obtusos", comentó el catedrático de Microbiología de la Universidad Autónoma de Madrid, Ricardo Amils, al diario Público.
Por lo tanto, el hallazgo provocará cambios en la actividad de la NASA, que hasta ahora sólo había buscado vida en planetas que contenían los elementos que creía podían acogerla. "Aunque estos seis elementos conforman los ácidos nucleicos, las proteínas y los lípidos y, por tanto, la mayor parte de la materia viva, es posible, teóricamente, que algunos otros elementos de la tabla periódica puedan cumplir las mismas funciones", informó la revista Science.
Cualidades de la bacteria. La bacteria de la sal, un miembro de la familia Halomonadaceae de las protobacterias, procede de Mono, un lago tóxico y salobre de California, y es capaz de cambiar completamente el arsénico por fósforo hasta el punto de que incluso incorpora arsénico a su ADN. Los investigadores de la agencia espacial cultivaron la bacteria, que crece y se multiplica cómodamente en el medio tóxico, en platos petri en los que se reemplazó gradualmente la sal de fosfato por arsénico. 

El proceso continuó hasta que las bacterias crecieron sin necesidad de fosfato, un elemento esencial. Y así determinaron que el arsénico había reemplazado completamente al fósforo en las moléculas de la bacteria hasta su ADN mismo. "La forma en que el arsénico se introduce en la estructura de las biomoléculas no está clara, y no conocemos los mecanismos por los cuales operan tales moléculas", señalaron los investigadores. "El trueque de uno de los elementos biológicos mayores puede tener un significado evolutivo y geoquímico profundo", añadieron los expertos. 

El hallazgo fue presentado ayer en una rueda de prensa por la NASA. El anuncio estuvo precedido de intensas especulaciones de los blogs tecnológicos, como Gawker y PC World, que hablaron durante los últimos días de la posibilidad de que la agencia estadounidense anunciara que había hallado vida en el espacio exterior.
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ACTIVIDADES
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Lee el texto con atención. Subraya todas las palabras que no conozcas y búscalas en el diccionario.

2- Contesta:

¿Cuál es la información principal que aporta el texto?
…………………………………………………………………………………………
¿Qué características tiene esta nueva bacteria?
……………………………………………………………………………………………………………………………………………………………………………………………..
¿Dónde ha sido encontrada? ¿Quién la ha encontrado?
…………………………………………………………………………………………………………………………………………………………………………………………….
3- Relaciona cada tipo de texto con la definición correspondiente:

-Literario


Relata la vida de alguien

-Biográfico


Transmite una información

-Periodístico


Cuenta una historia de ficción

4- Indica qué tipo de narración pertenece a cada uno de estos textos:

Un cuento

Una biografía


Una noticia

Describe las características de estos textos y explica en qué se diferencian.
…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..
5- ¿De qué tipo de texto narrativo se trata este documento?
……………………………………………………………………………………………
6- Señala en el documento las partes en las que se divide el texto.
………………………………………………………………………………………………………………………………………………………………………………………………
7- Transforma este tipo de narración en un cuento de al menos diez líneas.
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
8- Escribe sintagmas nominales a partir de estos sustantivos:
Bacteria- Hallazgo- Materia- Investigadores
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
9- Señala el sujeto y el predicado en el titular de esta noticia.
…………………………………………………………………………………………………………………………………………………………………………………………..
10- Explica la diferencia entre oración y frase. ¿Hay alguna frase en el texto?
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……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………...............
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UNIDAD 5 

 “La descripción. El verbo: raíz y desinencias.”
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Narciso: De acuerdo a la literatura griega, su nombre deriva de " Narkissos". Narkissos era un pastor, hijo de la ninfa Liríope, el joven era extremadamente atractivo y altanero. 
Cuando él nació, el adivino Tiresias predijo que ver su imagen en un espejo sería su perdición. Su madre se encargó de que creciera sin conocer cómo era. Narkissos hermosísimo, sin ser consciente de ello, hacía caso omiso a las doncellas que se morían de amor por él. Hasta que despreció a Eco. 
Eco era una ninfa de los bosques, parlanchina y alegre. Con su charla incesante entretenía a Hera, esposa de Zeus. El padre de los dioses griegos aprovechaba esos momentos de distracción de su esposa, para mantener relaciones extraconyugales. Hera, al enterarse de esto, condenó a Eco a sólo poder repetir el final de las frases que escuchara. Avergonzada, Eco abandonó los bosques que solía frecuentar, recluyéndose en una cueva cercana a un riachuelo. 
Narkissos solía dar largos paseos sumido en sus cavilaciones, y uno de esos paseos lo llevó a las inmediaciones de la cueva donde Eco moraba. La ninfa lo vio, e inmediatamente cayó locamente enamorada de él, pero maldita como se encontraba no se atrevió a acercarse. Varios paseos llevaron a Narkissos al lugar, él finalmente la descubrió y se acercó. Eco no podía decir lo que deseaba, entonces acudió a la ayuda de los animales, que le hicieron entender a Narciso el amor que Eco le profesaba. Narkissos estalló en risas. Eco desgarrada moría. Se retiró a la cueva, donde permaneció sin moverse, repitiendo apenas en un susurro, las últimas palabras que había escuchado de su amado... "qué tonta... qué tonta...". Eco allí se consumió de pena, tan quieta que llegó a convertirse en parte de la cueva. 
Nemesis, diosa que había presenciado toda la desesperación de Eco, decidió castigar al joven. Un día en que el joven había salido a pasear hizo que el sol lo calentara, hasta casi hacerlo desfallecer de sed. Narkissos recordó entonces el riachuelo donde una vez había encontrado a Eco, y sediento se encaminó hacia él. Cuando se encontraba a punto de beber, vio su imagen reflejada en el remanso del arroyo. Como Tiresias había predicho la imagen lo perturbó enormemente. Quedó absolutamente cegado por su propia belleza. 
Se cuenta que ahí mismo murió de inanición, ocupado eternamente en su contemplación. Otros dicen que enamorado de su imagen, quiso reunirse con ella y murió ahogado tras lanzarse a las aguas. El caso es que, en el lugar de su muerte surgió una nueva flor a la que se le dio su nombre: el narciso, flor que crece sobre las aguas de los ríos, reflejándose siempre en ellos.
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ACTIVIDADES
11- Lee el texto con atención. Subraya todas las palabras que no conozcas y búscalas en el diccionario.

12- Indica los personajes que aparecen en este relato y sus descripciones.

13- Identifica los elementos propios de la descripción.

14- ¿Son descripciones físicas, psicológicas o una mezcla de ambas?

15- Describe el paraje natural en el que se sitúa la acción.

16- Señala con una X.

Si al hacer una descripción dejamos ver nuestra opinión sobre lo descrito, estamos haciendo una descripción:

__ Objetiva


__ Subjetiva


__ Imparcial
17- Indica la raíz y las desinencias de estas formas verbales:

deriva- nació- entretenía- podía- deseaba- permaneció-aprovechaba-moraba

18- Clasifica las formas verbales anteriores según su conjugación.

	Primera conjugación
	Segunda conjugación
	Tercera conjugación

	
	
	

	
	
	

	
	
	

	
	
	


19- Indica la persona, el número, el tiempo y el modo de las formas verbales anteriores.
20- Escribe diez verbos del texto en forma no personal.
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UNIDAD 6  

“El diálogo y sus formas. La conjugación verbal.” 
Doña Rosita la soltera o El lenguaje de las flores, es una tragedia teatral escrita en 1935 por Federico García Lorca (1898-1936), un año antes su muerte, y la última obra estrenada en vida, el 13 de diciembre de 1935. 
Tío: (Entra.) Es una rosa que nunca has visto; una sorpresa que te tengo preparada. Porque es increíble la "rosa declinata" de capullos caídos y la inermis que no tiene espinas; ¡qué maravilla!, ¿eh?, ¡ni una espina!; y la mirtifolia que viene de Bélgica y la sulfurata que brilla en la oscuridad. Pero ésta las aventaja a todas en rareza. Los botánicos la llaman "rosa mutabile", que quiere decir mudable, que cambia... En este libro está su descripción y su pintura, ¡mira! (Abre el libro.) Es roja por la mañana, a la tarde se pone blanca y se deshoja por la noche.
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Cuando se abre en la mañana
roja como sangre está.
El rocío no la toca 
porque se teme quemar.
Abierta en el mediodía 
es dura como el coral.
El sol se asoma a los vidrios
para verla relumbrar.
Cuando en las ramas empiezan
los pájaros a cantar 
y se desmaya la tarde 
en las violetas del mar,
se pone blanca, con blanco
de una mejilla de sal.
Y cuando toca la noche 
blando cuerno de metal 
y las estrellas avanzan 
mientras los aires se van, 
en la raya de lo oscuro, 
se comienza a deshojar. 

Tía: ¿Y tiene ya flor? 

Tío: Una que se está abriendo. 

Tía: ¿Dura un día tan solo? 

Tío: Uno. Pero yo ese día lo pienso pasar al lado para ver cómo se pone blanca.
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ACTIVIDADES
1- Lee el texto con atención. Subraya todas las palabras que no conozcas y búscalas en el diccionario.
2- ¿De qué género literario es propia la forma en que está escrito este diálogo?

3- En el texto se reproduce:
__ Un diálogo planificado

__ Un diálogo espontáneo

4- Transforma en estilo directo este texto dialogado.

5- En medio de la intervención de los personajes se reproduce un poema, ¿de qué tipo de texto se trata según su intención comunicativa?:
__Informativo

__Prescriptivo

__Literario

__Persuasivo

6- Localiza todas las formas verbales del texto y clasifícalas en formas personales y formas no personales.

7- ¿Hay en el texto verbos irregulares? Señálalos.

8- ¿Cuáles son los dos tiempos verbales más utilizados en este texto? 

9- Escribe los verbos CAER y DESHOJAR  en pretérito imperfecto de indicativo y en pretérito perfecto simple.

10- Escribe todos los verbos del texto que aparezcan en forma compuesta o perfecta.
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UNIDAD 7

  “La literatura y sus formas. Uso de los tiempos verbales.”
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Oda al Gato es un poema de Pablo Neruda de su obra Navegaciones y regresos, que fue publicado en 1959.
Los animales fueron 
imperfectos, 
largos de cola, tristes 
de cabeza. 
Poco a poco se fueron 
componiendo, 
haciéndose paisaje, 
adquiriendo lunares, gracia, vuelo. 
El gato, 
sólo el gato 
apareció completo 
y orgulloso: 
nació completamente terminado, 
camina solo y sabe lo que quiere. 

El hombre quiere ser pescado y pájaro, 
la serpiente quisiera tener alas, 
el perro es un león desorientado, 
el ingeniero quiere ser poeta, 
la mosca estudia para golondrina, 
el poeta trata de imitar la mosca, 
pero el gato 
quiere ser sólo gato 
y todo gato es gato 
desde bigote a cola, 
desde presentimiento a rata viva, 
desde la noche hasta sus ojos de oro. 

No hay unidad 
como él, 
no tienen 
la luna ni la flor 
tal contextura: 
es una sola cosa 
como el sol o el topacio, 
y la elástica línea en su contorno 
firme y sutil es como 

la línea de la proa de una nave. 
Sus ojos amarillos 
dejaron una sola 
ranura 
para echar las monedas de la noche. 

Oh pequeño 
emperador sin orbe, 
conquistador sin patria, 
mínimo tigre de salón, nupcial 
sultán del cielo 
de las tejas eróticas, 
el viento del amor 
en la intemperie 
reclamas 
cuando pasas 
y posas 
cuatro pies delicados 
en el suelo, 
oliendo, 
desconfiando 
de todo lo terrestre, 
porque todo 
es inmundo 
para el inmaculado pie del gato. 

Oh fiera independiente 
de la casa, arrogante 
vestigio de la noche, 
perezoso, gimnástico 
y ajeno, 
profundísimo gato, 
policía secreta 
de las habitaciones, 
insignia 
de un 
desaparecido terciopelo, 
seguramente no hay 
enigma 
en tu manera, 
tal vez no eres misterio, 
todo el mundo te sabe y perteneces 
al habitante menos misterioso, 
tal vez todos lo creen, 
todos se creen dueños, 
propietarios, tíos 
de gatos, compañeros, 

colegas, 
discípulos o amigos 
de su gato. 

Yo no. 
Yo no suscribo. 
Yo no conozco al gato. 
Todo lo sé, la vida y su archipiélago, 
el mar y la ciudad incalculable, 
la botánica, 
el gineceo con sus extravíos, 
el por y el menos de la matemática, 
los embudos volcánicos del mundo, 
la cáscara irreal del cocodrilo, 
la bondad ignorada del bombero, 
el atavismo azul del sacerdote, 
pero no puedo descifrar un gato. 
Mi razón resbaló en su indiferencia, sus ojos tienen números de oro
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 ACTIVIDADES
1- Lee el texto con atención. Subraya todas las palabras que no conozcas y búscalas en el diccionario.

2- ¿De qué  trata el texto?

3- ¿Por qué crees que este texto es literario?

4- ¿Es un texto en prosa o en verso? ¿Cuál es la diferencia?

5- Señala con una X el fin o fines que tiene este texto:

Expresar sentimientos.__

Crear belleza.__

Transmitir una enseñanza.__

6- Convierte este texto en una descripción en prosa haciendo los cambios que sean necesarios.

7- Señala en el texto todas las formas verbales e indica el tiempo y el modo.
8- Indica qué valores tienen los tiempos verbales señalados: 
-“La guerra de las galaxias” se estrena en 1977._________________________________

-¿Me podría ayudar?______________________________________________________

-Voy pasado mañana al médico._____________________________________________

-Yo la atiendo, señora. ¿Qué buscaba?________________________________________

-Recoges tu cuarto ahora mismo.____________________________________________

-Aún no habrá aterrizado.__________________________________________________

-Sería de madrugada cuando llegaron.________________________________________

-¿Vendrías conmigo?______________________________________________________
9- Escribe un breve texto en el que emplees el presente con valor de pasado. 
10- ¿Cómo se llama este uso verbal?
Presente de historia.__

Presente por pasado.__

Presente histórico.__
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 Poeta chileno nacido en Parral en 1904.
Huérfano de madre desde muy pequeño, su infancia transcurrió en Temuco donde realizó sus primeros estudios. Aunque su nombre real fue Neftalí Reyes Basoalto, desde 1917 adoptó el seudónimo de Pablo Neruda como su verdadero nombre. 

Escritor, diplomático, político, Premio Nobel de Literatura, Premio Lenin de la Paz y Doctor Honoris Causa por la Universidad de Oxford, es considerado como uno de los grandes poetas del siglo XX.
Militó en el partido comunista chileno apoyando  al presidente chileno Salvador Allende.
De su obra poética,  destacan títulos como «Crepusculario», «Veinte poemas de amor y una canción desesperada», «Residencia en la tierra», «Tercera residencia», «Canto general», «Los versos del capitán», «Odas elementales», «Extravagario», «Memorial de Isla Negra» y «Confieso que he vivido».
Falleció en 1973. 


UNIDAD  8 
“El lenguaje literario. El adverbio.”

Federico García Lorca (1898 - 1936) 

“El lagarto está llorando”

(A mademoiselle Teresita Guillén
tocando un piano de siete notas) 

         El lagarto está llorando.
La lagarta está llorando.

El lagarto y la lagarta
con delantalitos blancos.

Han perdido sin querer
su anillo de desposados.

¡Ay, su anillito de plomo,
ay, su anillito plomado!

Un cielo grande y sin gente
monta en su globo a los pájaros. 
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El sol, capitán redondo,
lleva un chaleco de raso.

¡Miradlos qué viejos son!
¡Qué viejos son los lagartos!

¡Ay cómo lloran y lloran.
¡ay! ¡ay!, cómo están llorando!
[image: image36.png]


ACTIVIDADES
1- Lee el texto con atención. Subraya todas las palabras que no conozcas y búscalas en el diccionario.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
2- Haz un esquema con los recursos estilísticos que conozcas.

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
3- Define el concepto de paralelismo. Busca uno en el texto.

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..
4- Define el concepto de elipsis. Busca uno en el texto.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..
5- Define el concepto de anáfora. Busca una en el texto.

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..
6- Define el concepto de metáfora. Busca una en el texto.

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..
7- Define el concepto de aliteración. Busca una en el texto.

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
8-  Localiza los adverbios y di de qué tipo son: 
-Marcela volvía a casa muy cansada.

-Soñaba con tumbarse tranquilamente.

-Ya hemos hecho bastante.

-Los equipos de socorro están muy lejos.

-Pronto llegará el verano.

-Sigue entrenándote así.

9- Subraya el adverbio y di a qué palabra complementan. 
-Me parece que Blanca trabaja demasiado.

-Es demasiado tarde para coger ese tren.

-¿Crees que esa camiseta está demasiado sucia?

-Me lo dijo bastante educadamente.

-Los coches iban muy rápidos.

-Aquello era realmente bello.

10- Subraya los adverbios en el siguiente texto y clasifícalos: 

“Empezaba a encontrarse mal en esa habitación, siempre que entraba en ella ocurrían cosas bastante raras. A menudo se escuchaban ruidos y las puertas se abrían y cerraban. De vez en cuando creía oír unas voces que parecían algo así como un niño pequeño llorando. Ciertamente no sé muy bien qué pasaba. Quizás estuviera encantada o posiblemente me dejaba llevar por mi imaginación. Lo cierto es que allí nunca me sentía tranquilo.”

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..……
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UNITÉ 1
THE SOLAR SYSTEM

The Solar System consits of the Sun ,the eight planets and other celestial bodies such as comets, meteors and asteroids. The Sun is a star and is the centre of the Solar System.

The planets in the solar system are Mercury,Venus, Earth, Mars, Jupiter, Saturn ,Uranus, and Neptune. Recently, Pluto wasn´t consider the ninth planet.
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Mercury, Venus, Earth, and Mars are close to the Sun and are called the inner planets. Jupiter ,Saturn, Uranus and Neptune are far from the sun and are called the outer planets.

Mercury is the nearest planet to the Sun. It takes 88 days to orbit the Sun. Neptune has got the longest orbit and takes 165 years to go around the Sun. Earth takes only one year to complete its orbit.

Earth is called Mother Earth because it is the only planet in our Solar System with sufficient oxygen, water and a suitable temperature for human beings ,animals and plants to live on it.

1) Answer these questions:

1-How many planets are there in the Solar System ?

2-What else is in the Solar System ?

3-Why are Mercury ,Venus,Earth, and Mars called the inner planets ?

4-How long does it take Mercury to orbit the Sun ?

5-When wasn´t Pluto considered a planet ?

2) Tick True or False:

1-The Sun is a star

2-The Sun isn´t in the centre of the Solar System

3-There are eight planets in our System

4-Mercury,Venus,Earth,and Mars are called the outer planets

5-Neptune takes 165 years to go around the Sun

3) Match A to B:

	1.-
	Jupiter,Saturn,Uranus and Neptune  
	a)
	of the sun,the eight planets and other celestial bodies                                  



	2.-
	The Solar System consist     

                 
	b)
	 the nearest planet to the Sun

	3.-
	The celestial bodies are         

              
	c)
	are far from the Sun

	4.-
	Mercury is                                           
	d)
	is  because it has got sufficient   oxygen and water for human   beings   

                                                                                                            

	5.-
	Earth is called Mother Earth           
	e)
	comets,meteors and asteroids
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4) Complete the sentences and discover the hidden word:

1-The sixth planet is ..........                S _ _ _ _ _      

2-Our system has...............                 o_ _ _ _ _           

3-Our planet is  ..................            _ _l_ _ _  mother earth     

     4-The Sun is a .....................           _ _a _         

     5- ..........................................           _ _r _ _ _ _  is the nearest planet to the sun

     6-There are comets,meteors and   _s_ _ _ _ _ _ _               

     7-The centre of the solar....             _y_ _ _ _  is the Sun             

     8-...........................................   _ _ _ _ s  is the second planet    

     9-One of the..........................         _ _ t _ _   planets is Jupiter 

    10-Human................................             _e_ _ _ _ can live on Earth      

    11-Earth takes one year to.....         _ _m_ _ _ _ _ its orbit around the Sun
UNITÉ 2
MICROORGANISMS
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A microorganism,from the Greek mikrós (small) and organismós (organism) is an organism that is unicellula or lives in a colony of cellular organisms.

They are very diverse,they include bacteria,fungi,microscopic plants(green algae) and animals such as plankton. Sometimes, they include viruses , but others consider them non-living.

Microorganisms live in all parts of the biosphere.They are crtical to nutrient recycling in ecosysems  as they act as the composers. They can also fix nitrogen so they are a vital part of the nitrogen  cycle. And recent studies indicate that airbornes microbes can play a role in precipitation and weather.

They are used in food ( in brewing, winemaking, baking,... ). In energy ( in fermetation to produce ethanol ). In science ( biotechnology, genetics,...).

They are vital to humans and the environment as they participate in the Earth´s element cycles,such as the carbon cycle and nitrogen cycle.

1) Answer the questions:
1-Where does the word microorganism come from?

2-Name  some examples of microorganism.

3-Where do they live?

4-Name some uses of microorganisms.

5-Why are they vital to humans?
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2) Find eight words relate to microorganisms:

	A
	M
	A
	O
	E
	P
	H
	L
	N
	
	VIRUSES


	V
	I
	R
	U
	S
	E
	S
	K
	O
	
	BACTERIA


	Q
	C
	N
	A
	S
	D
	F
	J
	T
	
	CYCLE


	W
	R
	R
	F
	U
	N
	G
	I
	K
	
	ETHANOL


	E
	O
	R
	Z
	X
	C
	V
	F
	N
	
	MICROBE


	R
	B
	A
	C
	T
	E
	R
	I
	A
	
	PLANKTON


	T
	E
	L
	C
	Y
	C
	S
	X
	L
	
	FIX


	Y
	S
	F
	D
	F
	G
	H
	J
	P
	
	FUNGI

	G
	E
	T
	H
	A
	N
	O
	L
	G
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3)  Find in the text:
   1-A language

   2-A word for very little plants

   3-The microorganisms that cause diseases.

   4-The name of a planet

   5-The food for fish.

4) Write true or false:

       1-The word microoranism comes from the latin.

      2-Some scientists consider viruses a non living microorganism.

      3-They live in all parts of the biosphere.

      4-Recent studies indicate that airborne microbes can´t play a role in precipitation.

      5-They participate in the carbon cycle.
UNITÉ 3
DAY, NIGHT AND THE SEASONS
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The Earth orbits the sun, but it also spins as it orbit. We call this spinning movement rotation. The Earth takes 24 hours to make one complete rotation, and this gives us day and night.

The Earth takes one year to orbit the sun. It is tilted and that means that the Earth’s axis is always pointing to one side as it goes around the sun. When the Earth leans towards the sun, it’s summer for that hemisphere, the days are long and the nights are short. When the Earth’s axis points away, it is winter and the days are short and the nights long.

In spring and autumn the Earth is still tilted but not directly towards or away from the sun, then the days are the same length as the nights.
1) ANSWER THE FOLLOWING QUESTIONS:

1-What is a rotation?

……………………………………………………………………………………

2-How long does it take the Earth to make one complete rotation?

……………………………………………………………………………………

3-How long does it take the Earth to orbit the sun?

……………………………………………………………………………………

4-What season is it in the northern hemisphere when the North Pole is tilted towards the sun?

…………………………………………………………………………………….

5-When are the days and nights the same length?

……………………………………………………………………………………

2) WRITE TRUE OR FALSE

1-The Earth orbits the sun……………………………………………………….

2-The Earth takes 24 hours to make a complete rotation………………………..

3-Day and night is the result of a complete rotation……………………………..

4-The Earth takes 375 days to orbit the sun………………………………………

5-In spring our planet is tilted towards or away from the sun……………………

      3)    ORDER THE WORDS TO MAKE SENTENCES:
            1-Earth, as, it, the, spins, orbit.

………………………………………………………………………………………

            2-is, the, Earth, tilted

………………………………………………………………………………………

            3-points, one, to, side, Earth’s, axis, the

……………………………………………………………………………………….

            4-long, days, are, the

……………………………………………………………………………………....

            5-spring, of, the, in, nights, and, length, same, days, is

…………………………………………………………………………………………
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UNITÉ 4
TREES
 Trees are important components of the natural landscape because of their prevention of erosion. They also play an important role in producing oxygen and reducing carbon dioxide in the atmosphere, as well as moderating ground temperatures.
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The parts of a tree are: the roots, trunk, branches and leaves.

The roots are generally embedded in earth, providing anchorage for the above ground biomas and absorbing water and nutrients from the soil.

The trunk is the part of a tree that connects the leafy crown with its roots. The trunk is covered by the bark. Nutrients from the soil are transported up the tree trunk in cells that act like pipes.

Deciduous trees lose their leaves to conserve water or the better survive winter weather conditions, they must regrow new foliage during the next season. Some of them are: oak, elm, and chestnut.

Other trees lose only a few of their leaves, they are evergreens, for example cedar, pine, holly, and fir are some of them.
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1) Answer the following questions:
1-Why are trees important?
………………………………………….

2-Which are the parts of a tree?
………………………………………….

3-What do roots do in trees?
………………………………………….
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4-Name two deciduous trees
………………………………………….

5-Name three evergreens trees
…………………………………….……

    2)Draw a tree and write its most important parts
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   3) Order the words to make sentences.
         1-roots, generally, in, embedded, are, the , earth.
…………………………………………………………….
         2-the, part, a, of, trunk, is, the, tree. 
………………………………………………………………

         3-trees, their, deciduous, lose, leaves.
……………………………………………………………………

         4-only, evergreens, few, a, leaves, lose.
………………………………………………………………………

         5-with, the, roots, connects, leaves, trunk, the, the.
…………………………………………………………………………
[image: image42.jpg]



UNITÉ 5
MICROORGANISMS
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A microorganism,from the Greek mikrós (small) and organismós (organism) is an organism that is unicellula or lives in a colony of cellular organisms.

They are very diverse,they include bacteria,fungi,microscopic plants(green algae) and animals such as plankton. Sometimes, they include viruses , but others consider them non-living.

Microorganisms live in all parts of the biosphere.They are crtical to nutrient recycling in ecosysems  as they act as the composers. They can also fix nitrogen so they are a vital part of the nitrogen  cycle. And recent studies indicate that airbornes microbes can play a role in precipitation and weather.

They are used in food ( in brewing, winemaking, baking,... ). In energy ( in fermetation to produce ethanol ). In science ( biotechnology, genetics,...).

They are vital to humans and the environment as they participate in the Earth´s element cycles,such as the carbon cycle and nitrogen cycle.

3) Answer the questions:

1-Where does the word microorganism come from?

…………………………………………………………………………………….
2-Name some examples of microorganism.

…………………………………………………………………………………….
3-Where do they live?

…………………………………………………………………………………….
4-Name some uses of microorganisms.

……………………………………………………………………………………
5-Why are they vital to humans?

…………………………………………………………………………………….
4) Find eight words relate to microorganisms:

	A
	M
	A
	O
	E
	P
	H
	L
	N
	
	VIRUSES

	V
	I
	R
	U
	S
	E
	S
	K
	O
	
	BACTERIA

	Q
	C
	N
	A
	S
	D
	F
	J
	T
	
	CYCLE

	W
	R
	R
	F
	U
	N
	G
	I
	K
	
	ETHANOL

	E
	O
	R
	Z
	X
	C
	V
	F
	N
	
	MICROBE

	R
	B
	A
	C
	T
	E
	R
	I
	A
	
	PLANKTON

	T
	E
	L
	C
	Y
	C
	S
	X
	L
	
	FIX

	Y
	S
	F
	D
	F
	G
	H
	J
	P
	
	FUNGI

	G
	E
	T
	H
	A
	N
	O
	L
	G
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3)  Find in the text:
  1-A language

   2-A word for very little plants

   3-The microorganisms that cause diseases.

   4-The name of a planet

   5-The food for fish.

5) Write true or false:

 1-The word microoranism comes from the latin.

      2-Some scientists consider viruses a non living microorganism.

      3-They live in all parts of the biosphere.

      4-Recent studies indicate that airborne microbes can´t play a role in precipitation.

      5-They participate in the carbon cycle.
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Plants absorb carbon dioxide (CO2) from the atmosphere via photosynthesis. When plants 'exhale' and organic materials like fallen leaves and branches, etc. decompose on and in the soil, CO2 is released once again. The equilibrium between the absorption and discharge of CO2 is a major issue in the debate about reducing greenhouse gasses (The Framework Convention on climate changes, The Kyoto Protocol). The ever-growing greenhouse effect, after all, is partly explained by an increase in CO2 concentrations, primarily resulting from human activities such as the combustion of fossil fuels. The determination and prediction of changes in the carbon absorption and discharge mechanisms of plants and vegetation thus form an important aspect of this Global Change problematic.
UNITÉ 6

THE WATER CYCLE
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The continuous movement of water from Earth to the clouds and back again is called The Water Cycle. Water from the oceans, seas, rivers, plants and even from our own bodies, is continually changing from a liquid into a gas. We called this process evaporation. The water in the air is an invisible gas called water vapour.

High up in the sky, the cold air makes this water vapour condensed on particles of ice or dust. Very often, these tiny drops of water combine to form large drops. When these drops are heavy enough, they fall as rain. This water then enters the pathways and large and small bodies of water.

The atmosphere always contains some water vapour, when this vapour remains close to cold ground, it condenses to form mist .If dense mist is polluted by smoke or other impurities and we have very poor visibility, it is called smog.
1) Read the text and write true or false:

a-Water is always changing from a liquid into a gas.

b-High up in the sky the hot air makes the water vapour condensed on particles of ice or dust.

c-Tiny drops of water combine to form large drops.

d-The drops fall as rain when they aren’t heavy.
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e-Mist is when water vapour remains close to cold ground.

      2) Answer the following questions:
          1-What is the water cycle?

          2-Where is water?

          3-Can you see the water vapour in the air?

          4-When do drops of water fall down?

          5-What is smog?

3) Complete the sentences:
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   1-The water in the air is an invisible gas called…

   2-Tiny drops of water combine to…

   3-The continuous movement of water from Earth to the clouds…water cycle.

   4-The atmosphere always contains…

   5-If dense mist is polluted by smoke or other impurities and we have…

4) Look at the text and name:
   1-A planet

   2-A natural liquid we need to live.

   3-It´s very high, it is blue and it’s where clouds are.
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   4-The opposite of hot.

   5-The verb contaminate.
UNITÉ 7
WATER  ON  EARTH
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In a galaxy called the Milky Way, nine planets orbit a star known simple the Sun. Some of the planets have spectacular rings. Other have volcanoes that are larger than continents or storm that last for centuries. But only one of the planets, Earth, has a surface covered mainly by water. In fact, oceans cover about 70% of our planet’s surface. That’s why Earth is often called the blue planet. It is the only place known where people, animals, and other living thing can survive.

The distribution of Earth’s water is like that: most of it 97% is salt water found in oceans, only 3% is fresh water. Of that, 3%, about three quarters is frozen near the Poles. Almost a quarter of the fresh water is underground. A tiny fraction is in lakes and rivers and even tinier fraction is found in the atmosphere, most of it in the form of invisible water vapour.
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1.- Answer the following questions:
1-How is our galaxy called?

2-Name what some planets have as special.

3-Why is Earth called the blue planet?

4-Which is the distribution of water on Earth?

5-Where can you find fresh water?

    2. - Draw a litre plastic bottle which represents the total of water on Earth.
 Point the 97% of salt water, colouring it in dark blue for example. Then the rest 3%, colour it like that: 76%, ice- light blue, 12%, groundwater-yellow.0`34% lakes and rivers- green 0´037%, water vapour- red
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SCIENCS NATURELLES
1º E.S.O.
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Unité 1.

La Terre dans l`univers.

CONCURRENCES.

· Connaître des mots mis en rapport avec  l’univers, pour  les reconnaître, les comprendre et  chercher à les utiliser  d’ habitude ou dans les  situations d’utilisation si nécessaire.

· Découvrir, connaître et comprendre notre univers, les astres, les planètes. Pouvoir  user quelques petites phrases et les comprenant  dans textes, médias….

Decoupage de contenus:

1.- Perdus Dans l’espace
· Théorie géocentrique.

· Théorie héliocentrique.

· La Voie Lactée.

2.- Les distances Dans l`univers.
· Unité astronomique

· Année –lumière

3.- L’univer que nous connaissons: les galaxias
4.- Nebuleuses et cululus stellaires
· Cumulus globulaires

· Cumulus ouverts

5.- Notre galaxie: La Voie Lactée: Estructure.
· Le noyau central

· Les bras spiraux.

· Halo

6.- Les étoiles.

7.- Caractéristiques des étoiles.
· L’éclat

· Le couleur

8.- Le soleil.
9.- Le Systeme Solaire:Composants.
· Les planètes

· Les planètes nains

· Les satellites.

· Les ceintures d`asteroides:

_ Les comètes:

_ La ceinture de Kuiper

· La nuage d’ Oort.

10.- Caractérisques du Système Solaire. Information  des planètes.
11. - Notre place dans l`universe.
12.-Le système Terre-Lune
13.- Les mouvements de la Terre:
· Mouvement de rotation.

· Mouvement de translation.
14.-L`axe de rotation Terrestre.

15.- Solstices et equinoccios:
· Equinocce de primtemps boréal.

· Equinocce d`automme boréal

· Solstice d’hiver boreal.

· Solstice d’été boreal.
16.- Les mouvements  de la Lune.
· Le mouvement autour de la Terre.

· Le mouvemen autour de son axe.

17.-Les marées:

· Les marées hautes

· Les marées baisses

18.- Les éclipses:
· L’éclipse du soleil.

· L’èclipse de la Lune.

VOCABULAIRE

· La Terre

· La planète

· Le soelil.

· L’étoile.

· L’axe.

· La Voie Lactée

· Le jour

· La Nuit.

· Le ciel.

· L’univers.

· La rotation.

· La translation

Développement de quelques  points du them

1.- Perdus Dans l’espace.
Nous sommes perdus dans l’immensité de l’universe

· Théorie géocentrique.
C`est une théorie ancienne et erronée selon laquelle La Terre se trouvait immovile au centre de l’univers.

· Théorie héliocentrique :

 La Terre ne se trouve pas immovile au centre de l’univers. La Terre tourne autour du Soleil

13.- Les mouvements de La Terre.
La planète Terre est animée par deux mouvements simultanés : un mouvement de révolution autour du Soleil en 365 jours et 6 heures et un mouvement de rotation sur elle-même sa durée est de 23h 56min 4s. La rotation de la Terre s'effectue autour d'un axe imaginaire.

6.- Les étoiles
Les étoiles sont de grandes sphères d’hydrogène et hélium qui libèrent de l’énergie.

15.-Equinocce de primtemps boréal.
À l'équinoxe de printemps, la déclination de l’axe est nulle : jours et nuits ont même longueur.
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   ACTIVITÉS

1.- Soulignez les bonnes réponses:
[image: image120.png]


a) Le Soleil, la Lune les planètes et les étoiles se tournent autour de la Terre.

b) La Terre se déplace autour du Soleil de même que le reste des planètes.
c) Le Soleil et La Terre se trouvent au centre de l’univers.
2.- Le Soleil, c’est une planète ou une étoile? Justifie ta réponse.
3.- Qu’est que c’est une éclipse du Soleil? Et de Lune?
4. - Comment s’appelle  le mouvement qui réalise La Terre autour du Soleil? Et sur soit même?
5.- Explique le fénomène du jour et de la nuit avec la thèorie géocentrique et héliocentrique. 
6.- Pourquoi nous pouvons affirmer que nous sommes perdus dans l’espace?.
7.-  Les gaz les plus abondants dans l’univers sont lesquels?
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8.- C’est un cumulus ouvert ou globulaires ? Explique la réponse :
9.- Reliez les deux colonnes :
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La Terre


El eje

La planète


la noche.

Le soelil.


La translación

L’étoile.


El universo.

L’axe.



La Vía Láctea

La Voie Lactée

El cielo

Le jour



El Sol

La Nuit.


La estrella

Le ciel.


La rotación.

L’univers.


La Tierra

La rotation.


El planeta

La translation


El día

10.- Complète les phrases:
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L`étoile de notre Système planétaire c’est ………………

Il faut  utiliser ………………………… pour mesurer la distance d'une planète au Soleil
Une éclipse se produit quand …. ………, ……  ………… et ……  …………   se trouvent approximativement sur la même ligne.

11.- Place les planètes dans  l`ordre de leurs distances au Soleil :
Jupiter.

Mars.

Mercure.

Neptune.

Pluton.

Saturne.

Terre.

Uranus

Venus.
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Unité 2.

La Terre, une planète habitée.

COMPÉTENCES.

1º.- Appliquer le pansement  scientifique technique pour interpréter prédire et mettre des décisions avec de l’initiative et l’autonomie personnelle.

2º.- Planifier et mener des solutions techniques et pensées.

3º.- Argumenter les conséquences d’un type de vie face à un autre par rapport à :

· L’usage avec de la responsabilité des ressources naturelles.

· Le soin de l’environnement.

· Les bonnes habitudes de la  consommation.

4º.- Prendre des décisions sur le monde physique et sur l’influence de l’activité humaine, avec spécial    attention au soin de l’environnement la consommation rationnelle et responsable 
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Découpage de contenus:

1º.- La vie dans la Terre. Caractéristiques qui font devenue La Terre comme une planète habitable
2º.- Fonctions des êtres vivants :
· Fonction de nutrition.

· Fonction de relation.

· Fonction de reproduction :

3º.- L’unité de composition des êtres vivants.

· Les bioéléments

· Les sucres.

· Les graisses.

· Les protéines.

· Les acides 

· L’eau et  les sels minéraux.

4º.- L`unité de organisation et fonctionnement : La cellule. La découverte de la cellule.
· Des organismes unicellulaires.

· Des organismes pluricellulaires.
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5º.-Les fonctions des êtres vivants :
a) La nutrition autotrophe.

b) La nutrition hétérotrophe.

I. Herbivores.

II. Carnivores. 
III. Omnivores.

IV. Saprophytes.

· Fonction de relation.

· Fonction de reproduction.

a) Reproduction sexuelle.

b) Reproduction asexuée.

6º.-La diversité des êtres vivants. La biodiversité. Les fossiles.
VOCABULAIRE

· Les êtres vivants.

· Unite.

· Composition.
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Organisation.

· Cellule.

· Biomolécule.

· Bioélément.

· Unicellulaire.

· Pluricellulaire.

· Sexuel.

· Asexuée.

· Végétal.

· Fossiles.

· Plante.

· Protection.

· Nutrition.

· Relation.

· Reproduction.

· Micro-organisme.

Développement de quelques  points du sujet.

· Plus petite structure vivante et unité constitutive des animaux dont les êtres humains. Sa taille et sa forme varient selon la fonction.
· Tous les êtres vivants proviennent d’un ancêtre commun et des changements survenus au fil du temps. Ils ont aidé à l’apparition d’une grande variété d’organismes. C’est ce qu’on appelle biodiversité.

· Les fossiles sont des restes d’êtres vivants ou de leurs activité ( des traces, des galléries, des eaufs, des excréments…) qui s’ont conservé à traves le temps et forment partie des roches sédimentaires.

· La science qui étudie les fossiles s’appelle Paléontologie et les scientifiques, sont les paléontologues.
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    ACTIVITÉS.

1º.- Mettre à la disposition des élèves une grande variété d'images de plantes, d'animaux et d'êtres humains. Les élèves choisissent deux images et constatent une similarité liée aux fonctions vitales, 

2º.- Observer, identifier et décrire des caractéristiques communes aux humains et aux autres animaux.Chercher  des exemples dans textes, dans la presse etc.…
3º.- Observer et identifier des similarités entre ses fonctions vitales et celles  d'autres êtres vivants, par exemple manger, dormir, grandir, respirer et il en est ainsi des autres êtres vivants sont…;

4º.- Les caractéristiques qui font différents le vif du mort ce sont lesquelles ?
 5º.- Les êtres vivants, comment sont-t-ils forment ?
6º.- Un bioélément c’est quoi ?
7º.- Existent composés qui soient présents seulement dans les êtres vivants ?
8º.- C’est le déplacement une qualité unique des êtres vivants ? Justifie ta reponse.
9º.- Dessine une cellule animale et d’autre végétale. Les différencies ce sont lesquelles?
10º.- Comment est délimitée la cellule végétale et l’animale ? 
11º.-  Ce qui donne la couleur verte aux plantes c’est quoi ?
12º.- Remplis les mots qui manquent dans le texte :

 Les ……………………………….proviennent d’un ………………….commun et des changements survenus au fil du temps. Ils ont aidé à …………………………. d’une grande…………………….C’est ce qu’on appelle ………………………………..

13º.- Les cellules qui existent selon la disposition du matériel génétique ce sont lesquelles ?

14º.- Si tu plantes une pousse de géranium au bout du temps tu auras une plante complète. Il s’agit d’une reproduction sexuelle ou asexuée ? Pourquoi ?

15º.- Pourquoi sont très importants les fonctions de relation et de reproduction dans les êtres vivants ?

16º.- De l’adaptation  font son  apparition la diversité. Quelques animaux qui habitent dans l’eau, par exemple les baleines  ou les dauphins, ils ne sont pas de poissons. Comment ont-ils résolu  les problèmes  de la locomotion dans l’eau ?

17º.- On peut affirmer que l’Espagne est le pays qui compte avec la plus grande diversité biologique ? Pourquoi ?

18º.- Tu crois que les gouvernements accomplissent les normatives comme par exemple la normative  à Rio de Janeiro pour la conservation des espèces ?Tu crois que ton apport est important ?

19º.- Tu crois que c’est acceptable collectionner des êtres vivants ? 
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Unité 3.

Les êtres vivants. Les microorganismes

COMPÉTENCES.

· Appliquer les connaissances acquis dans l’analyse, la résolution de demandes et l’interprétation d’information.

· Accéder à l’information en utilisant des techniques et des moyens adéquats et spécifiques.
· Prend de désistions.

· Transformer l’information en connaissances.

Decoupage de contenus:

· Le tri d’êtres vivants.

· Le tri: Des catégories de classification.

· Royaume.

· Type.

· Classe.

· Ordre.

· Famille.

· Génre.

· Espèce

· Les nommes des espèces sont-ils comment?  Nomenclature.

· Les cinq royaumes

.

a) Monères.

Les bactéries ont un métabolisme très peu élevé et souvent très original.

· Les coques.

· Les baciles.

· Spiriles.

· Vibrios.

b) Protistes.

Les protistes vivent presque tous dans l'eau et se déplacent souvent par des flagelles ou des cils (comme la paramécie). Certains sont protégés par une paroi.

c) Mycètes.

Les champignons vivent sous la forme de filaments (mycélium). Ils ne se déplacent pas. Ils ont une paroi. Ils se développent dans des milieux humides. ils consomment la matière organique en décomposition

La reproduction sexuée des champignons est très complexe, les spores germent et donnent des mycéliums qui se fécondent et donnent d'autres spores.
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d) Plantes.

Les plantes sont composées de nombreuses cellules réunies en tissus. Leur paroi les protège et réunit les cellules entre elles. La plupart des plantes vivent en milieu aérien et certains arbres sont les plus grands êtres vivants. Les plantes sont autotrophes Les plantes se reproduisent par reproduction sexuée (par les fleurs et les graines ou des organes équivalents). Mais leur reproduction asexuée est souvent facile: on peut multiplier de nombreuses plantes en les fragmentant (boutures).

e) Animaux.
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Les animaux sont aussi composés de nombreuses cellules regroupées en tissus. Les animaux vivent nombreux en milieu aquatique mais ils se déplacent souvent facilement et ont conquis tous les milieux terrestres. Leurs organes des sens sont très développés, et ils communiquent entre eux. Certains vivent en société

Les animaux invertébrés sont souvent capables de reproduction asexuée mais cette faculté diminue fortement chez les vertébrés qui ne se reproduisent que par reproduction sexuée.

VOCABULAIRE

· Royaume.

· Type.

· Classe.

· Ordre.

· Famille.

· Genre.

· Espèce

· Monères

· Bactéries

· Flagelles

· Paroi

· Champignon

· Fragmentation.

· Spores.

· Mycètes

ACTIVITÉS    [image: image47.png]



· Sur ce schéma, complète les catégories taxonomiques de :

a) Chat

b) Chien.

c) Singer.
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· Les catégories taxonomiques, à quoi crois-tu qu’on sert ?

· Quand on dit que deux individus appartiennent à la même espèce ?

· Choisir quatre nouveaux organismes et d'inventer un autre système de classement. Portez attention à la suite logique des questions.

· Inventer en équipe, un système de classification à utiliser pour classer des animaux choisis. Il faut  être créatif. Il est interdit d’utiliser le système de Linné ou même Internet pour y parvenir. Présenter leur système de classification à la classe, puis discutez des pour et des contre de chacun des exemples. Vous pourrez alors discuter de Carl Von Linnaeus (Carl Von Linné).

· Quelles caractéristiques présentent les organismes dans le royaume de monères et de plantes ?

· Explique pourquoi quelques bactéries sont importantes pour l’être vivant et leur finalité dans le monde alimentaire.

· Quelles caractéristiques  à la cellule bactérienne ? Dessiner les types.

· Dessine  un flagelle et une cellule avec de cils. Explique les différences entre les deux cellules.

· Est-ce que toutes les algues sont égales ? Développe et justifie ta réponse.
Recueillir les spores d'un champignon

Matériel nécessaire

- un champignon arrivé à sa maturité


- un verre


- une feuille cartonnée type bristol de dimension supérieure au chapeau du champignon
[image: image130.png]


- un peu de peinture de couleur opposée à la couleur de la feuille


- un microscope

Comment procéder :


- Recouvrir la moitié de la feuille de peinture, ainsi quelque soit la couleur des spores, ils seront bien visibles


- Découper le centre de la feuille d'un trou égal au diamètre du pied du champignon.


- Mettre de l'eau dans le verre, poser la feuille cartonnée dessus, puis passer le pied du champignon par le trou, de telle manière qu'il soit en contact avec l'eau.


- Placer l'ensemble à l'abri des courants d'air et laisser la sporée se faire pendant 24 heures.


- Retirer délicatement le champignon, et placer le carton sous le microscope. Vous pouvez maintenant admirer les spores disposées suivant la position des lamelles.
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Unité 4

Le monde des plantes.

COMPÉTENCES.

· Soigner l’environnement et le respecter à travers de sa connaissance.

· Comprendre et pratiquer les valeurs des sociétés démocratiques : démocratie, liberté, égalité, solidarité, responsabilité, participation et citoyenneté.

· Pratiquer le dialogue et la négociation comme le biais pour arriver aux accords et comme la façon de résoudre les conflits.

· Apprécier la liberté d’expression, le droit à la diversité et l’importance du dialogue interculturel.

DECOUPAGE DE CONTENUS:
· Caractéristiques du royaume des plantes.

· La classification des plantes.

· Les plantes sans fleurs.

· Les plantes avec des fleurs.

· La structure des plantes. Parties et fonction des parties.

· Biodiversité de plantes en Andalousie. Le  «Abies pinsapo ».
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VOCABULAIRE

Développement de quelques  points du sujet.

· Les plantes.

Les plantes font partie de la lignée végétale, c'est-à-dire d'un ensemble d'organismes autotrophes et phototrophes

Elles sont des êtres multicellulaires à la base de la chaîne alimentaire. Elles forment l'une des subdivisions (ou règne) des Eucaryotes. Elles sont, avec les autres végétaux l'objet d'étude de la botanique
Les végétaux sont des organismes autotrophes, c'est-à-dire qu'ils produisent leur propre matière organique à partir de sels minéraux puisés dans le sol et de dioxyde de carbone, assimilé par les feuilles grâce à l'énergie solaire : c'est le mécanisme de photosynthèse. Ils lui doivent, par le biais de la chlorophylle contenue dans les chloroplastes, la couleur verte des plantes.

Les végétaux sont des organismes fixés au sol par leurs racines (mais il y a des exceptions), ce qui les rend très dépendants des conditions de leur environnement

 

· La classification des plantes.

· Sans   vaisseaux conducteurs.

· Avec des vaisseaux conducteurs

· Avec des vaisseaux bien développés.

· Les plantes sans fleurs.

· Les hépatiques et les mousses

· Les fougères.

· Les plantes avec des fleurs.

· Angiospermes.

· La fleur.

La fleur est constituée par l’ensemble des organes de la reproduction et des enveloppes qui les entourent chez les angiospermes (aussi appelées plantes à fleurs). Après la pollinisation, la fleur est fécondée et se transforme en fruit contenant les graines. Les fleurs sont parfois solitaires ou non (sauf cas rare), mais souvent regroupées en inflorescences.

· Le fruit.

· La graine.

· Gymnospermes :

· Les conifères.

La structure des plantes.

· Les racines.

· Parties.

· Fonction.

· Types.

· La tige.

· Parties.

· Fonction.

· Type :

· Aériennes.

· Aquatiques.

· Souterraine.

· La feuille.

· Parties.

· Fonction.

· Type.

ACTIVITÉS  [image: image49.png]



1º) Écris le nom des parties de la fleur que tu connais.

[image: image133.png]


2º) Par groupes, élaborer des affiches comme  ces qui ont au- dessous. Remplir-les avec les noms des parties, et faire-les le plus mieux possible car ils seront exposées pendant la semaine francophone.

Vous devrez  former  six groupes de six personnes chacun.  Choisissez-vous le thème parmi les offerts.

Utilisez le dictionnaire online pour savoir des mots inconnus.
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3º) Faire une recherche sur «  la sierra de Grazalema » Accueillir des dates sur l’arbre caractéristique  et emblématique : «  Abies pinsapo », puis exposer l’information dans la classe.
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UNITÉ 1.

LE SIÈCLE XVIII.
La société de l’Ancien Régime. –
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Une caractéristique très importante de la société de l’Ancien Régime était son inégalité civile puisqu’elle était divisé en deux groupes bien diferencies: les privilegiés (noblesse et clergé) et les non privilegiés (tiers état). Il s’agissait d’une société fermée, dans laquelle chaque personne appartenait à un ordre dès la naissance et pour toute la vie.  La promotion sociales était presque impossible.

1. Les ordres privilegiés. Ce sont la noblesse et le clergé. Ils avaient la plupart des terres, qu’ils explotaient en régime seigneurial, ils monopolisaient tous les postes importants et ils étaient exonérés du payement d’impôts.

La noblesse vivait des rentes de la terre et elle accumulait des abundantes richesses. Elle jouissait de privilèges juridiques: tribunaux différenciés, lois diverses, peines de dureté différente suivant on soit noble, ecclésiastique ou plebéien. Aussi elle jouissait de concessions honorifiques (banc reservé dans les églises, la préférence en actes publiques…) et de privilèges économiques:  le monopole de tous les postes importants (politiques, administratifs, religieux, militaires) et, surtout, l’éxoneration totale d’impôts, un des éléments clefs de la richesse des privilegiés.
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Le clergé vivait des rentes derivées de l’exploitation de leur patrimoine territorial et aussi de la dîme. Il n’était pas un groupe homogène: l’haut clergé profitait des luxes et privilèges de la noblesse, alors que le bas clergé supportait une vie très modeste.

2. Les ordres non privilegiés. Le tiers état constituait le groupe des non privilegiés. Ils étaient la plupart de la population (entre un 90 et un95%) et il groupait  des personnes très différents par leur condition sociale et economique. Cependant ils avaient en commun leur oposition aux privilèges et au régime seigneurial, et leur revendication  de l’égalité civile.

La bourgeoisie comprennait les grands artisans, commerçants et banquiers. C’était le groupe le plus actif économiquement et leur richesse avait augmenté grâce à la croissance économique du XVIII siècle. Cependant, malgré leur enrichissement, la bourgeoisie manquait d’influence politique, elle était en marge des cercles du pouvoir et elle voulait un plus grand pouvoir politique et prestige social.

Les classes populaires urbaines groupaient les travailleurs manuels des villes: artisans, domestiques, militaires, ouvriers des manufactures, groupes marginaux (pauvres, mendiants, malades, délinquants...).

Les paysans constituaient le groupe le plus nombreux de la population. Leur conditions de vie étaient très durs puisqu’ils étaient obligés à travailler les terres des groupes privilegiés, à qui ils payaient des impôts considérables (les droits seigneuriaux).
ACTIVITÉS.   [image: image54.jpg]
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a) Identifiez les trois personajes qui apparaissent en la gravure. Indiquez quelles vêtements ou symboles font preuve de leur condition.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

b) Quelle est la situation du paysan? Quels personajes semblent avoir intérêts communs? Que signifie la grande Pierre que le paysan supporte?

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….

c) Resumez l’essentiel de la société de l’Ancien Régime à travers de la gravure.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
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UNITÉ 2.

LIBÉRALISME ET NATIONALISME.
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Les étapes de la Révolution Française. –

1. – La Monarchie Constitutionnelle.
[image: image137.jpg]



En 1789 Louis XVI et la noblesse ont accepté la nouvelle situation et l’Assemblée Nationale a commencé un processus réformiste  pour transformer la France en monarchie constitutionnelle et parlementaire.


En 1791 a été promulgué une Constitution, qui a établi les idéaux du libéralisme politique: séparation des pouvoirs, souveraineté nationale et égalité légale des citoyens. Le suffrage censitaire a aussi été établi, c’est-à-dire, le droit de vote seulement pour une partie de la population (les groupes les plus riches).


Après l’approbation du texte constitutionnel, a été formée une Assemblée Législative, dans laquelle ont été rédigées des nouvelles lois pour assurer l’égalité des citoyens, interdire la torture, obliger la noblesse à payer des impôts et abolir les corporations de métiers.

Finalement, avec l’objectif de résoudre la crise financière, les biens de l’Église ont été expropriés, déclarés biens nationaux (désamortissement) et vendus à des personnes privées. En contrepartie, l’État a assuré le maintien du clergé.


Ces réformes satisfaisaient les groupes bourgeois, mais le nouveau régime avait beaucoup d’opposants: la noblesse, qui désirait récupérer ses privilèges; le clergé, mécontent du désamortissement; et la monarchie, qui conspirait pour renverser l’Assemblée.


Les secteurs populaires ont aussi manifesté leur mécontentement face aux restrictions du suffrage et à l’augmentation du coût de la vie. Parmi  les révolutionnaires se distinguaient trois courants : les girondins, les jacobins et les cordeliers, qui avaient l’appui des sans-culottes, milices populaires et radicaux de Paris, dont le nom vient de leur façon de s’habiller.

[image: image138.jpg]


L’opposition de la famille royale à la Révolution s’est manifestée à la suite de sa fuite de Paris pour se joindre à l’armée autrichienne (Fuite de Varennes). Louis XVI, discrédité, a été amené, mettant en évidence son refus du processus révolutionnaire.


En 1792 les autrichiens ont envahit la France et ils sont arrivés aux portes de Paris. Cette situation a provoqué un climat de révolte entre les sans-culottes, qui ont attaqué le Palais Royal, ont emprisonné le monarque et ont proclamé la république.

2. – La République démocratique.  

A) La Convention girondine.
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La république est tombée entre les mains des girondins, qui ont convoqué élections au suffrage universel masculin pour la nouvelle Convention Nationale.
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La Convention a réalisé un jugement contre le roi Louis XVI et sa femme Mª Antoinette, qui ont été accusés de trahison, condamnés et guillotinés.  La mort du roi a provoqué l’alliance des monarchies européennes, qui ont formé une coalition contre la France révolutionnaire.


La république se trouvait en danger. Quelques révoltes contre-révolutionnaires ont éclaté dans le pays, surtout en Vendée. En même temps, les armées coalliées envahissaient France.

B) La Convention jacobine.

Les jacobins ont obtenu le pouvoir et ils ont arrêté les principaux dirigeants girondins. Ils ont promulgué une nouvelle Constitution, la de 1793, qui établissait la souveraineté populaire, le suffrage universel direct et le droit à l’égalité. L’exécutif est tombé entre les mains d’un Comité de Salut Public, qui a concentré tout le pouvoir en Robespierre 
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Pour faire face à la menace extérieure, la république a organisé une armée, a décrété la levée en masse et a développé la politique da la Terreur: des tribunaux révolutionnaires ont condamné par des peines de prison ou de mort les personnes suspectées d’être contre-révolutionnaires (Loi des Suspects).


Le Comité de Salut Public a adopté une série de lois sociales: le contrôle des prix et des salaires, la distribution des biens des contre-révolutionnaires entre les indigents, la vente des terres du clergé et l’éducation obligatoire. En plus, les églises ont été fermées et le culte à la déesse raison s’est établi.


Cependant, la radicalisation de la révolution, le Terreur et le gouvernement dictatorial des jacobins ont provoqué l’opposition de la plupart de la population. Donc, grâce au coup d’état de Termidor, Robespierre et des autres dirigeants jacobins ont été exécutés. [image: image58.jpg]



3. – La République bourgeoise.
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Après le coup d’état, la bourgeoisie conservatrice a repris le contrôle de la Révolution. Une nouvelle Constitución, celle de 1795,  conférait le pouvoir exécutif à un gouvernement composé de 5 personnes, le Directoire.


Ce gouvernement prétendait retourner aux principes de la Constitution de 1791, mais il a dû faire face à l’opposition de la noblesse et des classes populaires, qui se plaignaient de l’hausse continuelle des prix.


En cette situation de crise économique et sociale, un jeune général,  Napoléon Bonaparte, a protagonisé un coup d’état qui a mis fin au Directoire et a inauguré le Consulat. 
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    ACTIVITÉS.  
1. – Quelles étaient les caractéristiques de la Constitution de 1791?
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
2. – Expliquez les mesures réalisées par l’Assemblée Législative.
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

3. – Quels étaient les diverses groupes politiques qu’il y avait en France en 1791? Qui étaient les sans-culottes?
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
4. – Pourquoi le projet de transformer France en une monarchie constitutionnelle a-t-il échoué? Quand la monarchie est-elle tombée?
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..
5. – Qu’était la Convention Nationale? Quelles sont les deux étapes qui la divisent ?

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….

6. – Quand la république s’est-elle trouvée en danger? Quelles furent les conséquences  de cette situation?
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
7. – Quelles ont été les réformes principales de l’étape jacobine? Comment et pourquoi les jacobins sont-ils tombés?
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..
8. – Expliquez les caractéristiques de la nouvelle république bourgeoise commencée en 1794.
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
UNITÉ 3

 L’INDUSTRIALISATION DES SOCIÉTÉS EUROPÉENNES.
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Augmentation démographique et expansion agricole. –


La Révolution Industrielle a été le résultat d’un ensemble de changements économiques et technologiques, qui ont commencé à se produire en Grande-Bretagne vers le milieu du XVIII siècle, et qui ont donné lieu à une profonde transformation de l’économie et de la société.

1. – La révolution démographique.


Dès le milieu du XVIII siècle, la population européenne a commencé un processus de croissance qui est connu comme Révolution Démographique. Tout au long du XVIII siècle, la Grande-Bretagne a doublé sa population (de 5 à 10 millions).


Cela s’est produit grâce à un maintien, ou un léger accroissement, de la natalité et, surtout, à une diminution de la mortalité. Les causes de cette baisse ont été l’augmentation de la production de nourritures ainsi que le progrès de l’hygiène et de la médecine. Une meilleure alimentation a rendu la population plus résistante aux maladies, ce pourquoi les grandes pestes et les épidémies ont disparu peu à peu.
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2. – La révolution agricole. 

La croissance démographique n’aurait pas été possible sans l’augmentation de la production de nourritures, ce qui a exigé une grande transformation  agricole. Celle-ci a été due à deux faits fondamentaux: les changements de structure de la propriété de la terre et les changements du système de culture.


a) Changements dans la structure de la propriété de la terre. Vers le milieu du XVIII siècle les grands propriétaires anglais ont réorganisé les terres de culture, en groupant leurs parcelles et en les clôturant avec haies ou murs. Ce processus a été favorisé par les lois de clôture (“enclosures acts”), qui obligeaient à la clôture des propriétés agricoles. Ce phénomène a transformé la structure du champ anglais en un double aspect:


- Le système de champs ouverts (openfield) a été remplacé par le système de champs clôturés (enclosure).


- Une concentration de la propriété s’est produite entre les mains de nobles, commerçants et paysans riches. Pendant ce temps, les petits propriétaires et paysans pauvres, incapables de payer les frais de clôture et ruinés, ont été forcés à quitter leurs terres et émigrer vers les villes (exode rural) pour travailler dans les nouvelles usines.

b) Changements dans les techniques et les cultures. Entre les innovations techniques les plus importantes qui ont lieu en Angleterre vers le milieu du XVIII siècle, il convient de souligner:


- L’élimination de la jachère grâce à l’engrais et le roulement de cultures (système Norfolk: blé, navets, orge et trèfle) qui faisaient que la terre était toujours occupée et évitait son épuisement.


- L’association de l’agriculture et de l’élevage grâce à l’introduction de plantes fourragères (trèfle, betterave, luzerne) dans le système de rotation de cultures.


- Le perfectionnement d’outils agricoles, comme la charrue de fer, la faucille et la substitution du bœuf par le cheval  de trait.


- Le progrès en l’irrigation, l’engrais et l’augmentation de la fertilité des terres.


- Une certaine spécialisation commerciale favorisée par le nouveau matériel agricole, la sélection de graines et la diffusion de plantes nouvelles (pomme de terre, maïs).

Comment a influé la révolution agricole sur l’industrialisation? De 4 façons:
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1) en nourrissant une population croissante et, surtout, la population des centres industriels;


2) en augmentant le pouvoir d’achat des paysans pour l’acquisition des produits de l’industrie;


3) en fournissant une partie importante du capital nécessaire pour financer l’industrialisation;


Et 4) en fournissant une main d’œuvre abondante et pas chère (paysans expulsés du champ par les enclosures).


ACTIVITÉS.  [image: image61.jpg]



1. – Quels facteurs ont été à l’origine du changement démographique?
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
2. – Quelles raisons ont provoqué la diminution de la mortalité?
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..
3. – Qu’étaient les enclosures? Expliquez leurs conséquences.
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..
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4. – Expliquez le système Norfolk  et ses avantages au sujet de rotation de cultures sans jachère.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

5. – Expliquez les autres innovations techniques qui se sont produites dans l’agriculture anglaise.
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
6. – Signalez comment la révolution agricole a influé sur la révolution industrielle.
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..
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UNITÉ 4
L’ESPAGNE DU XIX SIÈCLE: LA CONSTRUCTION D’UN RÉGIME LIBERAL.
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L’affrontement entre absolutisme et libéralisme: le royaume de Fernando VII. –


a) La restauration de l’absolutisme.
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Fernando VII, connu comme “le Désiré”, est rentré en Espagne en 1814. Les libéraux voulaient que le monarque jurât immédiatement la Constitution de 1812, mais les absolutistes ont fait pression parce qu’il restaurât l’absolutisme et qu’il abrogeât toute la législation libéral des Cortes de Cadix.


Le roi, convaincu de la faiblesse des libéraux, a stimulé un coup d’État grâce auquel il a fermé les Cortes et il a abrogé la Constitution. Pendant les mois suivants s’est produit la restauration de toutes les institutions anciennes et s’est rétabli le régime seigneurial. C’était le retour à l’Ancien Régime. Beaucoup de libéraux ont été arrêtés et des autres ont dû s’exiler ou passer à la clandestinité.


Avec l’appui des secteurs les plus libéraux de l’armée, les opposants de l’absolutisme ont organisé beaucoup de putsch (prononcés), la plupart desquels ont été réprimés et leurs dirigeants ont été exécutés (Mina, Lacy, Porlier…).
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b) Le Triennat Libéral. 

En 1820, un putsch mené par le colonel Riego en Cabezas de San Juan (Séville) fut couvert de succès et inaugura le Triennat Libéral (1820-1823). Le roi s’est vu obligé à respecter la Constitution de 1812,à décréter une amnistie et à convoquer des élections. Les nouvelles Cortes, composées majoritairement par des députés libéraux, ont restauré une grand part des réformes de Cadix. De même, elles ont créé la Milice Nationale, un corps de volontaires armés qui protégeaient l’ordre libéral.


Cependant, ce processus réformiste ne bénéficiait pas de la  sympathie de Fernando VII, qui a demandé aide aux puissances européennes pour restaurer l’absolutisme. La Sainte Alliance a chargé la France de faire une intervention militaire en Espagne, et, en 1823, les dits “Cent Milles Fils de Saint Louis”, commandés par le duc d’Angoulême, sont entrés en Espagne, ont dérouté les libéraux et ont rétabli Fernando VII comme monarque absolu.
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c) Le retour à l’absolutisme.

Le retour à l’absolutisme (1823-1833) a été suivi d’une grande répression  contre les libéraux et de la destruction de toute l’œuvre législative du Triennat. Cependant le gouvernement de Fernando VII a été incapable d’apporter une solution aux graves problèmes que le pays devait affronter.


D’abord, il y avait une difficile situation économique. La guerre contre les français avait considérablement affaibli l’économie et avait quitté le Trésor en faillite. En plus, l’indépendance des colonies américaines a privé les caisses de l’État d’une importante source de revenus.


Il était donc indispensable de mener une réforme fiscale qui obligerait les privilégiés à contribuer avec leurs impôts. Mais le roi n’osait pas attaquer les nobles, qui étaient les principaux défenseurs de l’absolutisme. 


Un autre problème était le conflit dynastique: Fernando VII n’avait eu que des filles et la Loi Salique empêchait les femmes régner en Espagne. Pour garantir le trône à sa fille Isabelle , il  a promulgué la Pragmatica Sancion, qui abrogeait la loi précédente. Beaucoup d’absolutistes n’ont pas accepté le changement et ils ont défendu l’idée que le trône devait être au prince Carlos, le frère du roi.
L’indépendance des colonies américaines. –
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Au début du XIX siècle les colonies espagnoles en Amérique ont obtenu leur indépendance. Ce processus a contribué à accélérer les problèmes économiques et la perte de prestige politique de la monarchie de Fernando VII. Les causes de l’indépendance ont été: 

- La diffusion des idées des lumières et des principes de liberté et égalité promus par la Révolution française.


- Le succès de la révolte des colonies britanniques  d’Amérique du Nord, qui a fini avec la proclamation de l’indépendance des États-Unis en 1776.


- Le mécontentement de la bourgeoisie créole (de race blanche mais née en Amérique). Les créoles voyaient en l’Espagne un frein pour l’économie américaine, puisqu’elle faisait obstacle au commerce et elle imposait des impôts élevés. En plus, l’Espagne les laissait de côté sur le plan politique et administratif des colonies et elle leur donnait un traitement discriminatoire.


L’éclatement de la Guerre d’Indépendance en Espagne a provoqué aussi la formation de Juntes dans les colonies américaines, qui n’ont pas obéi à la monarchie de Jose Bonaparte. Cependant ces Juntes sont rapidement devenues des organismes de pouvoir qui essayaient d’agir en marge de l’Espagne. Les membres de ces Juntes étaient des créoles qui ont remplacé les autorités espagnoles et ont refusé d’accepter l’autorité de la Junte Centrale Suprême. 

En 1824 l’Espagne avait perdu toutes ses colonies à l’exception de Cuba, Puerto Rico et les Philippines.
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  ACTIVITÉS-
1. – Quelle a été l’attitude de Fernando VII quand il est rentré en Espagne? Pourquoi? Qu’est-ce qu’il a fait?
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
2. – Qu’étaient les putsch? Ont-ils tous échoués?
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
3. – Qu’était le Triennat Liberal? Comment a-t-il fini?
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
4. – Expliquez la situation économique de la dernière étape du royaume de Fernando VII.
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
5. – Pourquoi le conflit dynastique s’est-il produit? 
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
6. – Quelles causes ont motivé l’indépendance des colonies américaines?
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..
7. – Comment se sont formées les Juntes en Amérique?
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
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UNITÉ 1
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THE EARTH IN THE UNIVERSE

For many centuries our ancestors thought the Earth was the center of the Universe, but now science lets us know that they were absolutely wrong.


The Earth is part of our Solar System, whose formation began billions of years ago, when gases and dust started to come together to form the Sun, planets, dwarf planets, asteroids and other celestial bodies. The four rocky planets at the center of the solar system Mercury (the smallest one), Venus, Earth, Mars, are known as the inner planets. Jupiter (the biggest one), Saturn, Uranus, and Neptune are all composed primarily of gas and are known as the outer  planets.


The Solar System is located in the "Milky Way", which is just one among millions of galaxies.  These galaxies are always rotating slowly, so it seems that the Universe never stays still. Moreover, scientists think that other dimensions intersect with our three-dimensional universe, so it is almost impossible to determine the size of the Universe and where in it the Earth is.


If the Milky Way were an ocean, the Earth would not even be as large as a drop of water.
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· 2. Are the following statements TRUE or FALSE?

________ The Universe is always moving.

________ Our Universe has got two dimensions.

________ The Earth is the centre of the Universe.

________ The Milky Way is not an ocean.

________ Scientists know the exact size of the Universe.

________ Uranus is an inner planet.

________ The Solar System is billions of years old.

________ The rocky planets are known as the inner planets.

· 3. Match the words with their definitions:

UNIVERSE   COSMIC DUST   MILKY WAY   STAR   EARTH   ASTEROID    SUN   PLANET
a. The system of stars that contains our sun and its planets,

seen as a bright band in the night sky.


    
_______________________

b. The planet that we live on.





_______________________

c. The star that shines in the sky during the day and gives

the earth heat and light.





_______________________

d. A large round object in space that moves around

 a star and receives light from it.




_______________________


e.Very small pieces of matter floating in the space.


_______________________

f. A small rocky and metallic object that orbits (goes around)

the sun but is too small to be considered a planet.


_______________________

g. The whole of space and everything in it, including

the earth, the planets and the stars.




_______________________

h. A large ball of burning gas in space that we see as a point

of light in the sky at night.





_______________________

· 4. Match the words with the pictures:
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UNITÉ 2
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ROLAND GARROS VERSUS WIMBLEDON 

The French Open (French: Les Internationaux de France de Roland Garros or Tournoi de Roland-Garros) started in 1925 as an international tennis tournament. It is held over two weeks between late May and early June in Paris, France, at the Stade Roland Garros. It is the second of the Grand Slam tournaments on the annual tennis calendar and the premier clay court tennis tournament in the world. Roland Garros is the only Grand Slam still held on clay and ends the spring clay court season.

It is one of the most prestigious events in tennis, and it has the widest worldwide broadcasting and audience of all regular events in this sport.  Because of the slow playing surface and the five-set men's singles matches without a tiebreak in the final set, the event is widely considered to be the most physically demanding tennis tournament in the world.

The reigning current champions in singles are Rafael Nadal (for the fifth time) for the men and Francesca Schiavone for the women at the 2010 French Open. The last French man to get the title was Yannick Noah in 1983.
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Wimbledon is the oldest tennis tournament in the world and is considered the most prestigious.  It has been held in the London suburb of Wimbledon since 1877. It is one of the four Grand Slam tennis tournaments, and the only one still played on grass.

The tournament takes place over two weeks in late June and early July. The hard court (concrete) Australian Open and clay court French Open precede Wimbledon in the calendar year. The hard court US Open follows. 

Wimbledon traditions include a strict dress code for competitors (though players competing at the Olympic tennis tournament at Wimbledon in 2012 will not be forced to wear white.), the eating of strawberries and cream, and royal patronage. In 2009, Wimbledon's Centre Court was fitted with a retractable roof to prevent rain delaying and interrupting matches during the tournament. 

Fred Perry was the last British man to win the Wimbledon tennis in 1936 and Rafa Nadal was the winner in 2008 and 2010.
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                  Answer the following questions about Roland Garros and Wimbledon:

· Which tournament is played first in the year?

· Do they last the same time?

· Can you name a special tradition in Wimbledon?

· Who won the men’s final at Roland Garros in 2010?

· How many Grand Slam tennis tournaments are played on grass?

· Who was the last French player to win Roland Garros? When?

Are the following statements true (T) or false (F)?

______________ 1. At Wimbledon matches are played on hard court.

______________ 2. Roland Garros started in 1877.

______________ 3. Both in Roland Garros and Wimbledon men play five sets.

______________ 4. The US Open is the first Grand Slam tournament in the year.

______________ 5. Rafael Nadal has won Roland Garros twice.

______________ 6. At Roland Garros they play on clay.[image: image162.jpg]
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The Ladies' (top) and Gentlemen's singles trophies. 
The Gentlemen's Singles champion receives a silver gilt cup 18.5 inches (about 47 cm) in height 

UNITÉ 3
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        PerraultFairyTales.com presents "The Story of Charles Perrault"

Charles Perrault was born in 1628. He wrote many stories which were already well-known to people (told orally around the fire or at bedtime, to entertain and teach children), but had never been written down.  If it were not for writers like Charles Perrault, many of these stories would have been lost to us. You have probably heard some of these stories in your own life! 

· [image: image164.jpg]


Sleeping Beauty   (La Belle au bois dormant) 

· Little Red Riding Hood   (Le Petit Chaperon Rouge)

· Blue Beard   (La Barbe Bleue)

· Puss In Boots   (Le Maître Chat ou le Chat Botté)

· Cinderella   (Cendrillon ou la Petite Pantoufle de Verre)
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Charles Perrault was born to a wealthy family in Paris, France. He was always interested in learning. He went to the best schools, where he was always top of his class. 

When he grew up, Charles Perrault got married and became a lawyer. He also worked with his brother collecting taxes for the city of Paris. He was always ahead of his time, and caused a stir for writing that modern ideas are better than ancient ideas. He believed in the future and in progress.
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Charles Perrault knew a lot about a lot of things, and he was interested in making life beautiful for people. When some noblemen wanted to close the Tuileries Gardens in Paris to everyone except the King, Charles Perrault argued that they should be open to the public, and they still are to this day. The King still liked him, and gave Perrault several appointments and positions, including looking after Royal buildings, designing tapestries, and writing poems. When Charles Perrault became a member of the famous Académie Française in 1671, he again showed his love for the people by opening up the ceremony to the public for the first time.

When his wife died he gave up his public life to educate their children. Believe it or not he was almost 70 years old when he wrote his first fairy tales in 1697! They were instant hits, and it is from Perrault Fairy Tales that we get the most famous versions of some classic stories. Charles Perrault died five years later, in Paris in the year 1703.

1.-Are the following statements TRUE or FALSE?
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________ Charles Perrault was born in the sixteenth century.

________ He was not an only child.

________ He invented all the stories that he wrote.

________ His family were quite rich.

________ He did many different things through his life.

________ He started writing tales at a young age.

________ He was modern and progressive.
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________ He died at the age of 75.

2.-Match the fairy tale characters to the information given about them.

Cinderella    Puss in Boots   Sleeping Beauty     Blue Beard     Little Red Riding Hood

_________________ The three good fairies (Flora, Fauna and Merryweather) were invited to celebrate her birth, but the evil Maleficent appeared and cursed her.

_________________ A cat who gains the hand of a wealthy princess in marriage for his penniless and low-born master.

_________________ "My, what big teeth you have!", to which the wolf replies, "The better to eat you with,"
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_________________ She lost one of her glass slippers on the steps of the palace because she had to return home before midnight.

_________________ He tells her wife that she must not enter a special room under any circumstances.
UNITÉ 4
The Hundred Years' War: 
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The Hundred Years' War was a long struggle between England and France over succession to the French throne. It lasted from 1337 to 1453, so it might more accurately be called the "116 Years' War." The war starts because King Edward the III of England, provoked by French attacks on lands he owns in France, decides to declare himself King of France, arguing that he can legally claim the French throne through line of descent via his mother,  Isabella of France and the English forces dominate France for decades. Then, the struggle see-saws back and forth. In the 1360s, the French are winning. From 1415-1422, the English are winning. From 1422 onward, however, the French crown strikes back thanks to the teenage girl Jeanne d'Arc (Joan of Arc), a remarkable young mystic who leads the French troops to reclaim their lands. 
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Joan of Arc 
Joan of Arc was born in 1412 in Domremy, France. Her family were poor and her region had suffered from the long conflict between England and France.

From the age of 12 she began to have mystical visions. In these visions she said she felt the voice of God commanding her to renew the French nation.  She put new faith in the French armies and led them to repeated victories against the English. 
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However, in 1431 Joan was captured by the Burgundian forces at Compiegne and sold to the English. She was accused of witchcraft and found guilty. They condemned her to death by burning at the stake. It is said that over 10,000 people came to see her execution by burning. Her ashes were scattered in the Seine. One legend tells how her heart remained unaffected by the fire. Twenty six years later, she was declared to be officially innocent and was officially designated to be a martyr. She was canonized a saint in 1920 and remains the patron saint of France. Joan of Arc achieved a remarkable achievement in her short life of 19 years. In particular she embodied religious devotion with great bravery and humility, her life helped change the course of French history. 

1.- Match the words to their synonyms:

struggle   accuretely   dominate   strike back   command   condemn   remarkable   bravery

counterattack: ______________________   
fight: _______________________

sentence: __________________________ 
precisely: ____________________

important: __________________________ 
rule: ________________________

courage: ___________________________ 
order: _______________________ 

2.- Order the words to make sentences:

 Hundred      lasted      116      War      really      Years’       The          years

___________________________________________________________________ 

God   nation   Joan of Arc   that    wanted     to     the     said   French    her     renew
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___________________________________________________________________ 

 France   was   and   saint    canonized    a    saint    in   she   1920  is  the   of   patron

___________________________________________________________________ 
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3.- Complete the sentences:

a)  In 1337 King Edward the III of England declared himself 
…………………………………………………………………………………………….. 

b) The English forces dominated France for ………………………………………………. 

c) Joan of Arc led the French troops to …………………………………………………… 
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d) The French armies achieved repeated victories ……………………………………… 

e)  Joan of Arc died by …………………………………. at the 
age of …………………………………………………………………………………..……..
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UNITÉ 5
THE FRENCH INFLUENCE ON ENGLISH
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                In 1066 an important event took place in England: William the Conqueror (William the Conqueror, 11th century Duke of Normandy and King of England, (1780). William (1027-1087) came to the throne of England as King William I after defeating the English under Harold at the Battle of Hastings in 1066. From "Receuil des Estampes, representant les Rangs et les Dignites, suivant le Costume de toutes les Nations existantes", published 1780)  invaded this country and became the first Norman King of England until his death. One of the most obvious changes that occurred after William was crowned was that of the language: the Anglo-Norman. 
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 Anglo Norman was the language of the ruling classes, and it would be so until about three centuries later. But not only the upper classes used French, merchants who travelled to and from the channel, and those who wanted to belong to these groups, or have a relationship with them, had to learn the language. About 30.000 Romantic words entered the English language, that is, about one third of the total vocabulary. 

Nowadays, we can easily see this influence by looking at two words, beef and cow. Beef, commonly eaten by the aristocracy, derives from the Anglo-Norman, while  the Anglo-Saxon commoners, who looked after the cattle, kept the Germanic cow. And the same happens with pig  / pork  and  sheep  / lamb. 

In the same way, many legal terms, such as jury and verdict have Anglo-Norman roots because the Normans ran the courts. This split, where words commonly used by the aristocracy have Romantic roots and words frequently used by the Anglo-Saxon commoners have Germanic roots, can be seen in many instances: 

leave / abandon;   go on / continue ; keep / maintain, reserve;   look / regard;  watch / observe;    lead / rule, govern;   happy / satisfied;  young child / infant;  fair / objective;  end / conclus

      Pork                                                                                                Pig
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1.- FALSE FRIENDS: one of the consequences of this contribution of Romantic words to the English language is that sometimes appearances can be deceptive, that is, some words have a different meaning from what you might expect. 

Would you like to solve this exercise and learn some of these false friends?
SPANISH

ENGLISH

SPANISH

ENGLISH

____________   =         library            ≠        librería              =     ______________ 

____________   =        balloon           ≠        balón                 =    _______________ 

____________   =        actually           ≠       actualmente
    =   _______________ 

____________   =   
  spade
  ≠                  espada               =   _______________ 

____________   =       sympathetic    ≠        simpático           =   _______________ 

____________   =       sensible           ≠        sensible              =   _______________ 

____________   =       embarrassed   ≠         embarazada       =   _______________ 

____________   =       pretend            ≠        pretender            =   _______________
2.- The first paragraph of the text refers to the past, so its verbs are in the Past Simple. Can you find them and write their base form, past participle and meaning, please?
	BASE FORM
	PAST SIMPLE
	PAST PARTICIPLE
	MEANING

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


The Anglo-Norman
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UNITÉ 6
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The Channel Tunnel
The Channel Tunnel (French: Le tunnel sous la Manche) is a 50.5-kilometres undersea rail tunnel linking Folkestone, Kent in the United Kingdom with Coquelles, Pas-de-Calais near Calais in northern France. At its lowest point, it is 75 metres (250 ft) deep. The tunnel carries high-speed Eurostar passenger trains, Eurotunnel Shuttles to carry road vehicles—the largest in the world—and international rail freight trains. 

This project began construction in 1988 and opened in 1994. The terminals are unique facilities designed to transfer vehicles from the motorway onto trains at a rate of 700 cars and 113 heavy vehicles per hour. The frontier controls are at the entry to the system to allow travellers to go onto the motorway at the destination country immediately after leaving the shuttle. Seventeen million people used the tunnel as passengers in 2010.

There have been three fires in the Channel Tunnel that were significant enough to close the tunnel—all on the heavy goods vehicle (HGV) shuttles—and other more minor incidents. No one was killed but several people were taken to hospitals suffering from smoke inhalation, and minor cuts and bruises. The tunnel was closed to all traffic until everything was repaired.


1.- Match these words to their  definition:

a) DESTINATION
____ A blue, brown or purple mark on the skin.

b) SHUTTLE

____ A wide road with a least two lanes in each direction.

c) RAIL

____ A place to which someone or something is going or being sent.

d) FACILITIES
____ Goods that are transported by ships, planes, trains or lorries.

e) MOTORWAY
____ Each of the two metal bars that form the track that trains run on.

f) FREIGHT

____ A plane, bus or train that travels regularly between two places.

g) BRUISE

____ Buildings, services, etc that are provided for a particular purpose.

2.- Answer these questions:
a) How long did it take to build the tunnel?

______________________________________________________________________ 

b) When did people start using it?

______________________________________________________________________ 

c) How many cars and heavy goods vehicles can be loaded in a shuttle in five hours?

______________________________________________________________________ 

d) How many people travelled through the tunnel as passengers in 2010?

______________________________________________________________________ 

e) Was anyone killed in the fires of the tunnel?

______________________________________________________________________ 

f) Was anybody hurt? What sort of injuries did they suffer?

______________________________________________________________________ 

3.- Unscramble the following words from the text: 

M D Y I E M I E L A T: ______________________________ 

H E L E V I C: ______________________________________ 

I R R A P E: ________________________________________ 

Q N I U E U: ________________________________________ 

H N O A L I N A T I: _________________________________

R N E F O R T I: _____________________________________ 

N S I G D E: _________________________________________ 

L U N N E T: _________________________________________

UNITÉ 7
NAPOLEON BONAPARTE AND THE DUKE OF WELLINGTON


Napoleon Bonaparte (15 August 1769 – 5 May 1821) was born in Corsica to parents of noble Italian ancestry and trained as an artillery officer in mainland France. He was a military and political leader during the latter stages of the French Revolution. As Napoleon I, he was Emperor of the French from May,1804 to April, 1814 and from March, 1815 to June, 1815. During the Napoleonic wars he established hegemony over much of Europe and sought to spread revolutionary ideals. Napoleon's campaigns are studied at military academies throughout much of the world.

Upon Napoleon's return to power in 1815, many states that had opposed him formed the Seventh Coalition and began to mobilise armies. Two large forces under Wellington and von Blücher assembled close to the northeastern border of France. Napoleon abdicated, surrendered to the British, and was exiled to Saint Helena, where he died in 1821. An autopsy concluded he died of stomach cancer, though some scientists have since conjectured he was poisoned with arsenic.

Arthur Wesley (later Wellesley) was born in Dublin in early May 1769. In 1808, he assumed control of the British, Portuguese and Spanish forces in the Peninsular War (1808 - 1814), eventually forcing the occupying French to withdraw from Spain and Portugal. When Napoleon abdicated in 1814, Wellesley returned home a hero and was created duke of Wellington. He retired in 1846. He died on 14 September 1852 and was given a state funeral.

A historical curiosity: The Wellington boots, also known as rubber-boots, wellies, topboots, billy-boots, gumboots, barnboots, muckboots or rainboots were worn and popularised by Arthur Wellesley, 1st Duke of Wellington and became fashionable among the British aristocracy in the early 19th century.

[image: image74.jpg]



1. Match the beginnings and endings of the sentences:

a) Napoleon was     
____ concluded that he died of stomach cancer.

b) Napoleon I

____ became fashionable in the 19th century.

c) Many states

____ established hegemony over much of Europe.
d) An autopsy

____ formed the Seventh Coalition.
e) Wellesley 

____ born in Corsica.

f) Wellies

____ returned home a hero and became Duke of Wellington.
2. Order the words to make sentences.
He stages French a military and leader Revolution was during political the latter of the 

_____________________________________________________________________ 

_____________________________________________________________________

Napoleon's military are studied at much of the campaigns throughout academies world.

_____________________________________________________________________ 

_____________________________________________________________________ 

Some arsenic conjectured poisoned have scientists he was with since.

_______________________________________________________________________
CELEBRATIONS, FÊTES, THÉÂTRES



For many centuries, our ancestors thought the Earth was the center of the universe. Now, science lets us know that our ancestors were incredibly bad guessers. The Earth is located in the Orion Spur off the Perseus Arm in the Milky Way galaxy. Just where the Milky Way galaxy falls in the scope of the entire universe is still to be determined.


Size


The Milky Way galaxy alone is estimated to measure 1,000 light years from side to side. If the Milky Way were an ocean, the Earth would not even be as large as a drop of water. But how large is the universe? This we do not know, because we only can estimate the size of the observable universe, which has a diameter 280 billion light years across. Beyond that is a mystery, especially as light can't � HYPERLINK  "http://www.ehow.com/travel/" �travel� fast enough to go past the observable universe and give us a picture.


��Read more: � HYPERLINK  "http://www.ehow.com/about_4674096_earth-universe.html#ixzz13v6xo9nn" �Where is Earth in the Universe? | eHow.com� � HYPERLINK  "http://www.ehow.com/about_4674096_earth-universe.html#ixzz13v6xo9nn" �http://www.ehow.com/about_4674096_earth-universe.html#ixzz13v6xo9nn�
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1.Put in order from smallest to largest:





_______ DWARF PLANET


_______ MILKY WAY


_______ EARTH


_______ SOLAR SYSTEM


_______ UNIVERSE


_______ SUN


_______ JUPITER


_______ MOON


_______ MERCURY
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